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��
��	� 
����	 ��	��
�

��	 6��
���(

.���# -	�
���� ��� �	��
��� 9�8����������:

��� �	  �;���
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+�1�

�� ��� 
�	�����= ���� ��� ��� ��� +������	 ��� ���

��7
����
��� �	 ��� 6�	7
��
��	� ������	�
��� �	������	�� +	��	

>.%>#(@?F%D>3("?? ��� ��	 ������	 6����	��	��	 	���� ����	��	

����( �����	� ��� �
�7
� �
�( ��7
��������������	 6�������� >��	�

����� #F) �	� 3? ������ 
�� <������	����;
�� ��
������	= �����

�� ��� ��� ;��	��7��������������	 6����	��	� >��	���� 8? 
�� +��

�;�
��	� ��� +
����
���;�	�	�� �	� ����� 
�� G�����
�	� ���

��
���
�( ��� ������7������������� 6����	��	� ����� ��� .�
�

��	���� >��	����� ! �	� :? �����
������	 ��� �	������	�� +	��	

����� ��	� ���������1������	��	��	� 
�� +���	�����	= �����

��� +����+	��	 �	��������� ������
� ��� 
����0����	 <������	��

���;
���� 
����( ��� +	��	 ��� .�
����������	��	� >��	���� 5?

�������� ������ 
�� &������ ������(

��� /�
��	� �

�� +������	�;������� ���� ��� ��	�� ���Q�	

�	���������		 ��� ��� .7����� ��	��� �	� 
������ �����
� &������

��= ��� ���� �	 ��	��� ��� ��� &���	���
A���� ��� <������	�	 ���

J	��	(  ��	�� ��� ��
�����	 &������� ���� ���������1������	�

��	��	��	 
�� ������	 +���	�����
���
 ��	(

��� �	�����	 ��� <����������	�	 �������	 ��� ��� ��� <������	

��� 6.�&� ���� �
� 20 kcal/mol( �� ��� �
�� ��	 ��	�� ��� <����

���;������ ����������
�	 <������	 ���
�����	( E����
��� &��	7
�

��	7
��
��	 �
 >��	���� 3? ����� ��� 	�� 16.1 kcal/mol ��	� �����

��



� ��
�����
��� ��� 	
�	�����	

����	���� /������� ��� ��� <����������	 ���(

��� U�����	��
����	�� ��� ��	
�
	�	 <������	�	 ��	�
	 ����

�	 ����� E��� ��
��
��� ��� *������������	( ��� �����
����	  ���


�	���1����� ��	� 	���� ���� ;
�	�� ��	���	 �����	 ������� ��	�


����� ������������� *�������� ��� >6�
( +���
��	��	 ��� K����
��

��	 -. �	� -���

� 3?( ��� U�����	��
����	�� ��� �����	 ;��	7
�

�������������	  ��;�	�	��	 ��	� ����� ���������1������	��	�

��	��	 �����
������ >��	����� 3 �	� 8?(

6���
����� ��	 ��� +��������	���	�����	 �

�� <������	�	= 
����

���� ��� ��
��	�� <����	��
�� ������

�	, 6�%>P9?�%D3 < 6.�9&�

= 6.�9%D3 < 6.�BD2 < 6.�%D3 < 6.�&� < %D3�6.�%D3 < 6�

.>P9?�%D3( ��� +��������	���	�����	 ��	��	 ���� ��� +����	����

*
�����	�

k = A � e
−Ea
RT

��� ��� <������	��������	������� 
������	��	��	( �	��� ���

+		����= ���� ��� +�$����� >+����	����$�����? ��� �

� ��������

����	 ��
���
� �
���� ���= �0		�	 ��� ��
�����	 <������	��������	�

��������	 k �������� �����	( G(/( ������ ���� �����= ���� ��� <��

�����	��������	������� k ��� <������	 ��	 ����7
����
�� ��� 6.�

9&� >��	���� 8? ���� �� ��	�	 $����� 3(!) ���	�

�� ���	 ��

�� �
�

��� ���K�	��� ��� 6.�9%D3( �� ��� *�	�������� ��� ��� /������

��
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	�	��������� ��� +��������	���	����� K����� ���� �� /������

��	 1 kcal/mol H)@I 
����= ������ ���� ��� ��	 $��
�� �	 ��� ��
��

����	 *������	������� ��� ΔEa P 1 kcal/mol ������� ��	 $�����

3( ��� /���;��
 ��� 6�	7
��
��	���������� ����� ����
���= ���� ���

��	 ����
��	�	 +��������	���	�����	 ���� ���������� �	����������

�	 ��� <������	��������	������� ������	�� �����	( �� ���� ���

��� ��� ��� /�����	�	� ��� ��
�����	 *������	��������	 ���
������=

����������	 ���� 	�� ��� -��	� ��� ��� <����������������	��
�� ����

��
����, �
�������� %����	7
�������
�����	��	� >��	���� '? ��

�

��	 ���	�

�� �
� ��� �����������	 6�	7
��
��	� ��������	( ��������	

��� ����
����

�	= ���� ��� -. �� *���	���
 
�� <������	�����

;
�� ���	� .����
������	� ����� ���������1������	 ������� �	� ���

�	�����	 ��� .��������	 ����� 	���� 2��	������� ����
������� ��	�(

��� .�
��	���������� >��	����� ! �	� 8? ��������	 ���	�

�� �
� ���

������	 .�
��	��������= ����� ��� +�� ��� +
����
���;�	�	�� ����

	� <�

� 
� �;��
�	 �����	�( ��� U�����	��
����	�� �����	 �� 6���

�
���� 
� ��	 �
�7
F��7
�+	�
��� ����� ������= �(�( ��� ��	�� 
�	�

����	 .�%2�+����	� ��������( +��� �	 ������ $�

 ���� �

����	��

�������� �����	= ���� �� $�

 ��� ������7�����	��	� >��	����

!? ��� -. 	���� ����� ���������1������	 �����
������ ����= ���

���� ��� �

� �	����	 �����������	 G����	�� ��� $�

 ���( ��� .�
�

��	���� >��	���� :? �	� ��� �
�7
F��7
�������������� 6����	��	�
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��	 >��	����� # �	� 3? ��������	 ����
��� 
�	������= ����� ���

+�7
���� 
����

��� 
� ��	�� 
������	 6��
�	�����	� �����( �	�
��

�
����= �� ���� ��	 �
�����	������ �1��� ��� ���� ����� ��� 
�	���

��	�� *�0Q� ��� .��������	��	 ����	A���� ����= 
���
 ��	� ���

��	
��J�� <����	��
�� ��� ��� 9��F9&�� ��;�	�	��	 ����	��	

����( ��	 
����

����� .��������	� �	 ��� ��;;�
��	��	� >��	�

���� )? ��������� ��	 	��
��;��
�	 +	���1 �����
���= ��� ���� �	

��� ����� ���0���	 +��������	���	����� 
����( 4	 ��	 
��
��	 ����

$�

�	 ��	� ��� K����
� 
� ����
�����	��	 .��������	 �� ��
��	

��Q� ��� ���������1������	 ���������= ������ ��� �	����������

6���
���� ��� .��������	 ���
���
��� �������	�( .��
���
���� ��� <���

��	��
�� ��
��� ��� .�
����� >��	���� 5?(

4	 -���

� 3 ��	� ��� *��������	 ��� .��������	 �����	� ���

<������	 ����������( ��� E�	��	 ��� %�%���;;�
��	��	�

>%2P%1? �	 ��	 <������	����;
���	 ����� ��� ��� %�%�

��	������	��	� >%2�%1? 
����	 ��� �

� 6����	��	��	 �� /������

��� �
��������	 ����� ��� +
��	� >1.34 ? �
�( ��� +
��	� >1.54 ?

�	� ��	� ����� ��� U��������
������� ��
��� 	���� ��;���� ������

�����( ���	��

� 	���� ���������� ��	� ��� ��	��
 
������	 ��	

.��������	��	 ��� �;2� �	� �;3��7���������	  ��
�	���1����� �	

��	 <������	����;
��� �	� &���������������	= ��� ��� ��������

#!"� �
�( ��� -����������	��
 �	��;�����	(

��



� ��
�����
��� ��� 	
�	�����	

�
�

��
��
��
�
��


�
�
��
��
�
��
�
��
 
�
�


!"
��
#�
�
��
 


�$


��


�$
	




�%
�&
�
'&
�
(
�%
�
)
�%
�
�&
��
%

�
��
"�
�'
��
 

#�
��
��
��

#;
$

2

$

2

;$

1
� #

$

2

$

1
� �

$

2

�

$

1

;�

#;
�
2

#�
;�
2

�
2
;�
2

�

�
#�
$
�

3

<
�,
4.
�5

�*
��

�*
��

�*
��

6
#

�*
��

�*
��

��
��

��
��

�*
��

�*
��

%
��
��

�

�
��
'�
��

�*

	

�*
��

�*
��

�

�
#�
�
$
�

3

<
�,
4.
�5

�*
��

�*
��

�*
�	

�*
��

6
#

�*
��

�*
��

��
��

��
��

�*
��

�*
��

�*

	

%
��
��

�*
��

�*
�	

�*
��

�*
	�

�
��
'�
��

�*

�

�*
��

�*
�	

�*
��

�

�
#�
�
)

<
�,
4.
�5

�*
	�

�*
��

�*
��

�*
��

6
#

�*
��

�*
��

��
��

��
��

�*
��

�*
��

�*
�	

%
��
��

�

�
��
'�
��

�*

�

�*
��

�*
��

�

�
#�
�
�
)

<
�,
4.
�5

�*
��

�*
�	

�*
��

�*
��

6
#

�*
��

�*
��

��

�

��
��

�*
��

�*
��

�*

�

%
��
��

�

�
��
'�
��

�*

�

�*
��

�*
��

�*
��

�

�
#�
2
�

2

<
�,
4.
�5

�*
��

�*
��

�*
��

�*
��

6
#

�*
��

�*
��

��
��

��
��

�*
��

�*
��

�*

�

%
��
��

�*
��

�*
��

�*
��

�*
	


�
��
'�
��

�*

�

�*
��

�*
��

�*

�

�

$
�

3

��
#�
$
�

3

<
�,
4.
�5

	*
�	


*
�	

�*
�


6
#

�*
��

�*
��

��
��

��
��

�*
��

�*
��

�*
��

%
��
��

�

�
��
'�
��

�*

�

�*
��

�*
�	

�*
��

	

�
�#

7
�
�$
�

3

<
�,
4.
�5

�*
��

�*
��

�*
��

�*
	�

6
#

�*
��

�*
��

��
��

��
��

�*




�*
�	

%
��
��

�

�
��
'�
��

�*

	

�*
��

�*
�	

�*
	�




�
�$

7
�
�$
�

3

<
�,
4.
�5

�*
��

�*
��

�*
��

�*

�

6
#

�
*�
1�
*�
�

�*
�	

�*
��

��
��

��
��

�*
��

�*
��

�*
��

%
��
��

�*
��

�*
�


�*
�	

�*
�


6
#

�
*�
1�
*�
�

�*
��

�*
	�

�*
��

�*
��

�
��
'�
��

�*

�

�*
��

�*
	


�*
��

!
=
��
8
��
�
"�
+�
�)
�
&�
�)
!�
:
'�
�
8
��
��
.

� �
$

2

$

M
et
h
y
lg
r
u
p
p
e

��



� ��
�����
��� ��� 	
�	�����	

4	 �

�	 .��������	 ��� <������	����;
��� �����
������	 ����

��� ����7
����
�� �	� ��� +���	�����	 ����� ��	� �������

���1������( ��� .�D�/�	��	� ������� ��� ����� D�/����� ��(

2 W( ��� �	����	�	� ������ .7����� 
� ��	 ������
�+�
�;����

6����	��	��	 �������� �

����	��( ��� �
�7
�F��7
��������������	

.�
��	� >��	����� #F) �	� 3? ����� ��� .�
����� >��	���� 5? 
����	

��� ���� �
� 4 W �
�( ���� 5 W >��	���� 5? ����
��� ������ ��	 ���

����7
����
�� �	����	� �
� ��� ������	 6����	��	��	 >�	����	�	�

��( 3.0− 3.5 W?( ���  ��;
�����������	 ��� ��	����� #= : �	� 5

�����	 	���� ����� ���������1������	 ��	 ��( 2 W �����
������(

4	 ��	 U�����	��
����	��	 ���������	 ��� E�	��	 ��� ���

.�%2�/�	��	� ��	 2.17− 2.50 W �	� ��� ��� %1�D�/�	��	� ��	

3.00− 3.19 W( ��� E�	��	 ��� %2�%1�/�	��	��	 
����	 ��� ��(

1.40 W 
���
��� ��	�� 
������	 ��	�	 ��	  ��
�	���1���;;�
�

�	� ���	������	��	��	( +��� ��� *�������� ��� �����������	

 ��
�	���1����� ��
���� ��	 U�����	��
����	�( .���� ��	��

��	��
� ��	 #!"� ��� �	 ��	 ;
�	���	 +����	�����������	= J	��	

���� 
������	 ��	 �����	 ���������1�����	 �� %2 ��	��
 ��	

##)� ��� ###�( �� ������ ���� �
�� ������� ��� -�����������������

�� %2 �	( ��	���� # �	� 8 
����	 ����	���� ��� ��� ���������

<�
����	 
������	 %2�%1�/�	��	��
�	�� �	� D%2D���	��
( ��	�

���
��� /�	��	� >1.39 W= ��	���� 8? �	��;����� ��	�� �������	

��
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U�����	��
����	�= �	 ��� ��� D%2D���	��
 ���� 	��� ���

;
�	���	 .������� �	��;����� >##)�= ��	���� 8?= �����	� ��	

�;���� -. ������� ���� %�������� ��	�� %�%���	������	��	�

>1.45 W= ��	���� #? �	� ��	� ������������� ������	� �� %2

�������� >###�= ��	���� #?( ��� ����	��	�	 ����� ��� ��� ������	

6�	7
��
��	� ���������	 �����	 -��	�( $�� ��� �������� ����	�����

.7���� >��	���� )? ������ ���� ����� ��� +����Q�	� 
������	 ���

����7
���;;� �� %2 �	� �� �	������	��	 .������
���� ��	�

�
��	���� ��	��
 ��� D%2%Methylgruppe �
� ��� ��	� 6����	��	� ���

D%2D(

��� +	���1 ��� ����7
����
�� ��� ��� ��	7
����� ��	���� ����


���� ��� ��	 6�	7
��
��	�	 �	��� ��	�� ��	��
 ��	 #!"�( /��

6����	��	� %D3�6.�%D3 >��	���� )? ������� ��� +	���1���	��


	�� ##)�= ��� ������
��� ��� ��	�� ���������	 +����Q�	� �����

��� ����7
�����������	 �	 ��� 6�	7
��	���� ������( ��� +	���1��

��	��
 ��	 ##:� ��� ��� %����	7
�������
�7���� ��	����	 
����

���� ���� ����� ��	�	 �
�����	�����	 �1��� ���
���	= �� ���	
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1.0 eq* 6���$.

2 d� �*�

3.2 eq* A�%.�4

6�@

70 ◦C� 4 h

3.2 eq* $2�2$.2

2.0 eq* =>#�

4.0 eq* 6B%

=$>� −60 ◦C� 3 h

2.0 eq* ��)3$�2�

>�A� �'* ��A�
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2.0 eq* �2 �$.
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0.1 eq* =>%�

=$>
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R1

HN

O

OH
NH

N
+

Boc

N

N

O

R1

NH

O

NHBoc

Ph

N

N

O

NHBoc

R1

N

N

O

NH2

R1

2

��>��)?.4�4��!+�� 
>�� %# 1� � 1/

10 � 12 13 � 2�

3.5 eq* ��%

B��%�

0 ◦C� 1 h

�*�� 16 h

10 eq* 6@%

=$>

2 h

	

������ ��� �������� ��� �������� �� � �� /�� $����.�%��# ��� ��� �/��������
�� ���� ��4 '16 �,i

2�� � 0;��0�� *��& ��& ��;��& ��& ��+& )� � 0;�����
*��& ��& ��;��+4 �+ 1.0 eq: ,>)<& 1.05 eq: ���& 3.5 eq: ?@@& <,�& 0 ◦C � �:�
*17 h+ *��& ��+4 1.0 eq: ��)>)& 2.0 eq: �1�(�& ��@& 0 ◦C � �:�:& 10 d *��+

��� ������
��

 ����
�
����	 B������	�
��������
��	 +��	����

��	 EF��E���/�� �	� EF��&���/�� >��? �����	 �����
�� ��	

&&+ ��� 8�����7
;�;���
�	 
� ��	 6����	��	��	 &
 � &� �����

���
�= ��� �	 ���
�����	 ��� ��Q���	 >' � :5 O? +�������	 ����
��	

�����	( +�����	� ��� ����	��	 
�� 6������	� �����	��	 ��	��

����� �&���&���/�� &� 	���� ������ �������
�( B��� $�������
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�

 ����
�
����� B������	�
��������
��� /���E�D���&�� ����;;�
�

�����	(

�� �����	 ����������	� <������	�����	��	��	 ���;�������

>-���

� 8?= ��� ��� &������� &� � �� ����
��	 �����	 ��		��( ���

&��������
��	��	 ����	 ��	 ���
�	 B���	�������	�	 ���
�����=

������ ��� ����	�����	 .�����	
�	 &� � �� 	�� �	 ����	���

<��	���� �	� �	 ����	��	 +�������	 ����
��	 �����	 >-���

� 8?(

��� ���
�	�����������;������ 4��
����	� ��	 6����	��	� �&�

��E���D���&���/�� �* ��� ����
������( ���� ��
��� ��� B�<�

.;������ ��� ���
�����	 $������	 3= ��
��� 	�� ��	�	 �%�.;��

�	����
�= ��� ��� B�	�7���	 ���������( +

����	�� ��� ��� 
� ���

G���;�	�� �����	���� %7�
�����	 ����� ��	 D�����

�� ��	�����

	����( ��� B�<�.;������ 
����� ��� �����������������	 ������	

.��	�
� ��� 6���	���	���	��	= ��� ��� ��� �����	��� �	���� +���

����� >!:"O? ����	�����
��� ����	( B��� ��	�� 
�����	 +������

	���	���������� ��	 �* �����
� ���������	 �	� .��
�	���������

���;��� �	��� 6����	��	� ��	 ������= ����	�
= ����
�������	

�	� ���7
������ ��		��	 	�� G�����
�	��;������� ���
���� �����	

>-���
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��	 <���
���

&� D+-�= �4&�+= %D%
3= 100 ◦C= 2 h �������

� ���	 &�������

&� &&+= B��= ��$= 0 ◦C � �(�(= 72 h ���	 &������ �

&� &7/9/= �4&�+= �%�= 0 ◦C � �(�(= 10 d #:'O <��;������

�* �%%= D9/-= B��= -D$= 0 ◦C � �(�(= 15 h !:"O 	��� .% �

�� �%%= D9/-= B��= -D$= 0 ◦C � �(�(= 15 h 3(8O �

� ���( &��� �	����	��	= ���� #8 .;��� ��� ��� �%= ���	� -��		�	�

�0�
���

� ����� ��� 3@O 	��� .��
�	 
���������		�	

� �	�
( 6���	���	���	� ��� %7= 	�� 4��
����	 ��	 G�����
�	��;�������	

	��� �������� +�����	���	�

� <����������, #")O= ���( G�����
�	� �����	� +�����	���	�

6����	��	� �&�E�&���D���&���/�� �� ����� 
� #")O ���

����
��	= ��� <��;������ 
����� #" .;��� ��� ��� �%( �� ���

B�<�.;������ ��� <��;������� ��	 ��	����� ��	�� ����	 +���

����� ��������= ����� ��	� ����	������� ���
�	�����������;���

���� +�����	���	� �����
� *�����	��	 ��	 ���� �	;�
�� >&�	��	?

��� ;�
�� >��9D? �	������	��( ��� &������ �� ����� ��		���

	�� �	 ���� ����	��� +������� ���
���� >3(8O?= ��		�� ���� ����
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���
����

�	( B������ ��� ��� ��	����	  �;;
�	��������� �	�

��� 6����	��	� ��	 &&+ 
����
��� ��� ����� 
���������		�	

�����	 ��		�� >-���

� 8?= �����	 �	���� <����	
��	 �����
�(

��  �;;
�	��	 ��	 D���&�� �	 &�;���� �����
� D+-� �	 ���

�������

� �
� ����
������ ����������	 ��	� H:"I= ����� ����� 6��

���	�� ��������( .�� �
��� �

����	�� ��	� 	�����
����	 ����
�= ��

��	 &������������� �	����	�= ��� 	���� ���
����		�	 ���( ��	�

 �;;
�	� ���� ��	�	 G������� ��	 10 d ��� &7/9/ ������ ����
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�
��� �
� 
��
�����	�= ��� ��� B�<�.;������ ��� <��;�������

�	� .��	�
� �� �����	�;������ �������	( +�����	� ��� ���������

��	�	 .�������������	 ����� ������ .7	������&��K��� K����� 	����

������ �����
��(
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.�.�� !	�����	� ����	�� �!- = +	
����	 $	�
���	�

��� �	��������	� ���  �	���� ��� <������	�	 ��	 6�	7
��
��	�	

��� &�������	 ��		 ��� A�������������	 +���7� ����
��	( G����
�


���� .�����	 ��	� �	 ����

��������	 �0�
���= �	 ��	�	 	������

��
���
��� -���
� ���� -���
��� �
� B��
��;��
� ��	�����
� ����

��	 �	� ��		 �;��������;���� ��� <������	����
��� ��� +������	

�	 ��� ��;;�
��	��	� ��� 6�	7
��
��	� �����
�� ����( 4	 �	
7��

+���7� �	� 
� )
)� ���
����	 ��������� <������	�	 	��� ��	��  ��

	���� ;������������ 9��	�	�= �� ��� �	
7� � �� 6���
���� 
��

4	������� 4 �� �	��������� ���
���� >[E] << [I]?= �	� ���� �����

���  �	
�	������	 ��	 4 �����	� ��� <������	 ���� �	����( 4	

����

�������	�	 
����	 ���� ��
������  �	
�	������	������
�	����
[E]
[I] �
�(

[T ]
[I] ��� -P -���
>��? ��	���

�	= ������ ��� +������	 �	

��	� ��;;�
��	��	� 
����

��� �
� ��	� <������	 ��� ��	��  �	����


������ 9��	�	� �	�������� �����	 ��		( H5!=53I 6�	7
��
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 ���� -���
�� 
����	 ��		 �	 ���� �
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�� H5!I

4�� ��	� <������	

A+ B → C >8#?

��
��
��� ��� +����	�������	��	��	 + �	� / K����
� #( 9��	�	�

�	� �	������� !( 9��	�	�= ��
� ��� ��� *������	����������	���	�

��	 k2,

−d [A]

dt
= k2 [A] [B] >8!?

�� ��� 6�������� ��	�� -��
���	� + ��	 ��� +����	����	
�	�

������	 [A]0 ���� ��	 6�������� ��	�� -��
���	� / ��	 [B]0 ���

���� 
����= 
���� ���� �����
�	,

[A]0 − [A] = [B]0 − [B] >83?

�
�(

[B] = [A] + [B]0 − [A]0 >88?

B��� 4	��������	 ��� *
�����	� 8! ���� ��� G��� t ������ ����

ln
[A]

[B]
= ln

[A]0
[B]0

+ ([A]0 − [B]0)�2t >8:?

-���� ��	 	�	 ln [A]
[B] ����	 ��� G��� t ���= ���� ���� ��	� *�����

��� ��	�� .�����	� ;��;�����	�
 
� k2 ������	= ��

� ��	�  �	���� !(

9��	�	� ���
���� >+���
��	� ::?( ��� *������	����������	���	��
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� 2 
���� ���� ��� ��� .�����	� ��� *�����	 ����� �������	 �����

��	 -��� ([A]0− [B]0) ������	�	( ������ ���� ��� ��� +�������	�

��� �������	�	 ����� �	 ��� �	������	 ����� ���	� *�����= 
����

���� ��	�  �	���� !( 9��	�	� ������
��Q�	(

ln [A]
[B]

�

dlnA
B

dt
= k2([A]0 − [B]0)

ln
[A]0
[B]0
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�� H5!I

 �		 ��� ��	�� <������	 
������ 9��	�	� �������� �����	= ���� ���

 �	
�	������	 ��	�� ��� �����	 <�����	��	= 
( /( [B]= ��	���	�

��� ���� �� U��������� ���
����= ������ ���� �����	  �	
�	������	

�����	� ��� <������	 ���� ����	����= ��		 ��	 ��	 *������	�

�������������
 ;������������ 9��	�	� �		����	( *
�����	� 8!

−d [A]

dt
= �2 [A] [B]

�����	����� ���� ���

[B] ≈ [B]0 = konstant >8)?


�

−d [A]

dt
= �2

′ [A] >85?

���

�2
′ = �2 [B]0 ≈ �2 [B] >8'?

4	��������	 ��	 *
�����	� 85 
������

A = A0 exp
−�2′t >8@?
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E�	���������	� ����� 
�

ln
A

A0
= −�2′t >:"?

+�� ��� *������	����������	���	��	 ;������������ 9��	�	� � 2′

��		 ����� �������	 ����� ��� +����	����	
�	������	 ��� <����

���	�;���	��� �� U���������= [B]0= ��� *������	����������	���	��


������ 9��	�	� � 2 �������� �����	(

�����������������
� ��� ��� ����
��������������

������������ H))= 58I

+	���

� ��	�� ���;������	 +�������	� ��� 
�	����������	 ����	=

��� ���� ��	� 	�����
�	���� &���������;�������	� �	 ��� ��;��

����	��

�	 ����	 �0�
���( ����� ������� ��� ������	� �����

�������	 <���
���� 
� �����
���	= �� ��� �������
�� ��� ���

�����	����	 ������� ��� B�<�.;��������;�� �	����	��� ��	

��� G��� � ��� ��;�����	��= �	� ����� ���� �	����	��� ��	

��� *�0Q� ��� ����	�
����	 �������	�
� ���( $�� ��	 $�� �	 ��	�

<������	 !( 9��	�	� ����� ��� $����


I(t) = p �

1

(k2 � t+ 1
[A0]

)
− o >:#?

�����	���( ����� ��� 4 ��� 4	��	����� �
�( ��� 4	�����
 ��� ������
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��	�	 .��	�
�= k2 ��� *������	����������	���	�� !( 9��	�	�= � ���

����
���= +0 ��� �	��	�� ��	�����
��  �	
�	������	= � ��� 91���=

��� ���	���

�� <������	 ��������������= �	� ; ��	 &��;�����	��


�����������= ��� ��	 �������	 ��	���
 ��� 4	�����
����� �	���

�

��	�� ��;���� ������ ������	���	  �	
�	������	 �	 ��� $����
 ���

�0�
����(

$�� ��	 $�� �	 ��	� <������	 #( 9��	�	� ����� ��� $����


I(t) = p � e
−t
τ + o >:!?

�����	��	( ����� ��� � ��� 91���= ; ��� &��;�����	�
�����������

�	� τ ��� G�����	���	��= ��� ��� ��� *������	����������	���	��	

#( 9��	�	� k1 �	 ��
��	��� /�
����	� �����,

τ =
1

k1
>:3?
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�� ��	 �����	���� -���
 �����	��� �����	(

$�� �

� �� $�
��	��	 ����������	��	 <������	�����	��	��	 ����

��	 K����
� ;���

�
 .����
����������	��	 ������������= �� ��	

��	A��� ��� ������	� ��� ��� <������	 ���
����
��Q�	( �� ����

�� ��;
�
�� ��� .����
���� ��� 6�	7
��
��	� ����� ��� ��� -���
� ���

��	 �	���������
����	 <������	�����	��	��	 �����������= �� ���

	� ��	�������  ����
����	 ��� �����������	 +�	���� ��� .��	�
�

��� ��� ��
����	��	 +������	��������	 
� ������
�����	(

�� ��� ������ G�	���� ��� &������� 
� ����
����	= ������ ��	

-���
 ��� ��	�� ; s����� ��	 ���� 3�8 �	 ��������� ��
��� ����

��	��� �����	( �����	 ; s����� ����� 
( /( ��B��������;��	�


���( ��		��� ��� ������ -���
 ��� ��� ����

�������	 �0

�� �	���

���	��= �� ����� ��	 ����1��� ��� B�������;;� �	 �����&������	

��� B��
��;��
�� ��� -���
��� ����� ����� �����
� ���( �� �����

����������	 ��������7����;��	�
 �& �	 ��	�� 50 mM &���;����

;�1��= �������	� ���  �
������7�����	;���;��� �	�  �
����

�7�����	;���;���= ��� ;D P 5() �	 �29 �����	���( ��� ; s�

���� ��� -���
���;;� 
���� ��� 5(8�5('( H5:I B��� ��� D�	�����	�

D����
��
���*
�����	�

pH = pKs + log
[A−]
[HA]
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� :"O ��;����	���� ���

�	� ����� ��		 ��	� 	��� �0���� B��
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 ���
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� ��	�	  ��;������ ���( �� ����� ��� ������ -���
 ���

	�� �����
�= �����	 ; s����� ������ �� 	������ ���= ��� ��� ��	��
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� ��	�� ����������
�	 ��;����	����	�= �	� ��� -���
����	
�	����

���	 ��		 ���� ��� /���	��	
�	������	 ��������� �����	( �� ���

�	��	�����	 .�
��	� 	��� ��� +������	 ��� -���
��� ��	�	 �0����	

; s����� �
� ���K�	���	 ��� ��	�����
��	 /���	 ��������	 >6�
(

; s>%D3.92%D3?P !3 H'"I?= ���� ��� ��	�����
�� /��� 	�� �����
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��� ��� �
�� �
� ��	���	� �	
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/���	��	��	 ;������������ 9��	�	� ����
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�
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���� �� '�������������#��#�� ��� !����-����#��������������� ��� �����������������
��� A������
���������
�� �� $���
��
%��� ��� �*$�+631 mM

6����	��	� /��� -���
 � 2Z � 2

mmol/ eq( 1/s L/(mol � s)

# ��6. �* #O B�9D P "(3# ! !(!5 5(:'

! &�6. �
 "('O B�9D P "(!8' #(: )()' � #"−3 !)(@8

3 9��6. �� !:O  9t/� P 5(5:� ! @("8 � #"−4 "(83!

8 9&�6. �� "('O  9t/� P "(!8' #(: !(5@ � #"−4 #(#!)

: B��26. �% !"O B�9D P '(#8 � ! 8("3! "(":

� ��� ������  �	
�	������	 ��������� ��� /��� �	 ��	�� �������������	

&���

�
��;�����	� ���	��

� ��� ��� 6.= �

����	�� 	�� ���� 
�	����=

������ ����� <������	 	�� ���� ��	�� 
�� .��	�
��	���� ��� ��	7
�����	

&����	�	 �������(

� ��� 6.� �	
�	������	 ������ 40.7 mM

/������ �� �����	�� ������ -��������	��	 ��� ��� 	0���� ��	�

���

�	� ��� /���	��	
�	������	 
��Q�	 ���� ���Q� <������������	�

���������� �		����
� ��� <���� ��� 6�	7
��
��	� ����	�	( ���� ���

/���	��	
�	������	 
� 	������ �����
�= ���
���� ��� 
� ��������

��	�� <������	 
� 
�	���� ��= ������ ���	 $�� �	 ��� ����	 �0��


��� ��� �	� ��� *������	����������	���	��	 	���� ������	�� ����

��	 �0		�	( ���� ����� ��	� ���� /���	��	
�	������	 ��� <������
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� B�<�.;��������;��

	���� ���� 
� �	��	�� �0�
���= �� ��		 ��� *��Q���
 ��� <������	

������� ��� ��� �����	 ����	���	���� ����
����	 ���( ��� ��	 �;���

������	 /���	��	
�	������	�	 ���
����	 �

� <������	�	 ��� ��	��

G������
�= ��� ��	�	 ����	 $�� �	 ��� ����	 ���0�
����� �	� �����

��		��

� �����	���� ��� ��� *������	����������	���	��	 
�������(

��� ���� $�� �	 ��� ����	= ��� ����;
������ �	 *��J� )8 �	��	�

��� <������	 ��� ��6. �* ��
����= ��������� ��	 ��	���;�	�	�
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��� ��� (�������# ����� ��������

� ������� ��� 1���#��
� ��� $���
�
������� ��� @�$� ��� 6.87 − 7.00 ppm��� ��� ���� *���-��/+ ��� ��� �� ��� �����
*���+ �����
� !
������# MA

�����

��	 4<� �	� B�<������	����	 ��� <������	�	 ��	� /��

��	
����
 > �;���
 8(8(! �	� 8(8(3?( &�6. �
 �������� �������

��� ��� -���
 �	� ����� �	 ��� <������	 ��� ��� -���
�� ���

��0Q�� *������	����������	���	�� ���( ��	� ���	���

�  �	����

��	
�������	 
������	 -���
 �	� -���
�� ��� �	��� �����	 *����

��	�����	 
� ����������	= 
���
 ���  �	
�	������	 ��� -���
���

��� "('O ��
���� 	������ �����
� �����	 ������= �� ��	� ����

����������� ��� <������	 ��� ��	 �����	��	�	 *�����;������

���	 
� ����	�����	( ��� *������	����������	���	�� ��	� /���

� 2>�/?P 0.0128± 0.0015 L/(mol � s) ��� ����
��� �
��	�� �
� ���
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�	������	 ��� #=:����� �0��� �� ��;�����	� ��� /��� �
� ��
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����� �	��� G����
 ��	 -�+ >10 mM? �������� > �;���


8(8(#?( .�� ������	 ���� 
� � 2Z>��6.?P 0.015± 0.0045 1/s �	�

� 2Z>9��6.??P 0.0073± 0.0019 1/s( ������ ������	�	 ���� 	���

�������	 ����� 10 mM ��� � 2������ 
� � 2>��6.?P 1.5 L/(mol � s)
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 �& �	� D7����7����7
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�����	 
� �	

50 mM &���;���;�1�� �	 �29 >;DP5()? �	�����
�( ��� <��

�����	����
��� ����� �	��	� ��� L	����	� ��� 4	�����
� ���

&����	�	 ��� <�	����
�	���1����� ��	 
� ��� 3.45− 3.65 ppm

����� ��� �����������	 &����	�	 ��� -���
� ��� 6.76 ppm >�?

�����
��( ���  �	
�	������	�	 ��� +
�����	� �	� ��� -���;���

	�
� �������	 K� 1.25 mM= ��� *�������
���	 ��
��� ���� ���

700 µL( H)5I ��� <������	 ����� ���� ��	�	 G������� ��	 66 h

����������= �� ��		��	 ��		��� ���	� 6���	����	��	 �	 ��	

.��	�
�	 ��� +
�����	� ���������� �����	( ��� �	��� ��	��
��	

/���	��	��	 ������������� 6���
������������	 ��	� -���
 ��
����

���	��

� ��� .����
���� ��� +
�����	� �	 �29�&�1��(

6.456.656.857.057.257.45
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k2>
��+�	����?P 0.0650± 0.013 L/(mol �min)
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� ��
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��
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��� ���/�����
� ,�����# *��� /-�� @�����#��+ ��� ��������
��������� ��A& '��& @pro& �) ��� �0 ���� CH @������ @���/��� ����� ��& ��&
��& �� ��� �� ��� ����� 1������������/��������� ��� 20 µM:

��)�"���� @�� 3)� >pro $� $A
>��# .4 �
 ±2 
 ±5 �	 ±0 �� ±10 �� ±11
�)�# .� �� ±8 �� ±6 �� ±0 � ±1 �
�>��# .# �� ±4 � ±4 � ±3 � ±4 �� ±7
��)�# ./ �� ±0 � ±5 � ±3 � ±3 �� ±5
2>�2�# .0 �� ±2 � ±1 
 ±6 � ±3 �� ±0
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��
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� ,�����# *��� /-�� @�����#��+ ��� ��������
��������� ��A& '��& �0pro& �) ��� �0 ���� CH @������ @���/��� ����� ��& ��
��� �� ��� ����� 1������������/��������� ��� 20 µM:

��)�"���� @�� 3)� �Apro $� $A
�?'��5?,��)?.�%+���'�� �3 �� ±1 �� ±6 �� ±3 � �

E�����A���%+� 01 �� ±8 � �� ±5 � ±4 �� ±5
����A�������%+� 03 �� ±9 � � ±5 � ±1 �� ±4

��� �
��	� /������	= +
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��� ����� ��� $&! 
����	 ��� #:O �	� #3O �� ��
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*���$� ��� ��������
 ����#� ���%��� �% ��� �������� �������� �% �����
 ����
��� ��
@�����
 �������� $���,3 ��

+ �7;���
 ;���	���
 �	���7 ������� �� ��;����� �	 J���� 5@ �7

����	� ��� ����;
� �� ��� �������	 �������	 �� ����7
 ����
��� ��

������
 ����;��� 6.�%D3 �*( -�� �������	 ;���= �

�������� �7

��� ����� �����= ��	� ���� ��� �������	 ���;
�� �� ��� -. �7

��������	� �	 �	���7 �������= ��

���� �7 � ������������ �������	

�� ��� ;������( + �
������
 ��� ������� ��� ������� ;������� ���

�������	 ������	��� >J���� '"?(

-�� ����� �� ��� �	���7 ������� �� ;��� ��� -.= ��� �����

��

���������	 �	���7= �� ��
���� �� ��� ��	���� ;��������� �� � �������	

������� ��� +����	��� �2�����	 >�2�����	 :)= ���;��� 8(8(3?( %�	�

��2��	�
7= �	��
���� �� ��� ���������	 �	���7 ;������ ��� ;������

���	 �� � ���������7 ����� ��� ��1���	�
7 ����������� ��	7
 ��
��	��(
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*���$� ��� ��� �����#� ��� �(� �% ��� �������� �������� �% �����
 ����
��� ��
@�����
 �������� $���,3 ��

-�� ��
��
����	� �����
�� ��� ��

���	� ���	� >���;��� 8(#(8?, �
���

����
 �����	7
 ������
 ����;���� >��	7
�%>P9?�<1? ����
� �����

������ ���	 ��� ��������� ��	7
 ��
��	��( -�� �����	�� ��
��	����

><1P9��= 9&�? ����
� ����	 ����� ������ ���	 ��� ����� ��
��	�

���������= ������� ��� 	����� �� ��� �
����
�� �����7 ��� 	�� ����

�� ���� �	 �	A��	��( -�� �	�
7
�� ��
��	� ����� ><1PB��2? �	�

��� �
�7
� F��7
������������ ���;��	�� ><1P��= &�? ���� ��;���

��� �� ����� ���	�J��	�
7 �
����= ������� ��� ��7
 ������� 
��� �� �	

�������	�
 ����������	( %�
��
����	� ������ �����������= ���� �	

�������	�
 ���������	� �� ��� ����
� ��	� ���
� ��;��� � 	��
���

;��
�� ������ �����	����
7( -��

���� �� ��� ��2��	�� �� ��� ��
�����

�� >6�	7
�.>P9?���?(

4	 ��� ����	� ;��� �� ���� ����= ��� ��������� ��	7
 ��
��	� ���
�

��	� �
���� ���� �7	�����
�� �	� ���;
�� �� ��;�����
7 �7	������
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*���$� ��� !�����
 ��������� �% ��� ������#�� �������� ����
 ��
%���� -��� =6
?@� � @�& > � @�4 '16 �,i

2�� � �;0�0��& )� � �;0����4 '26 )� � 0�
���& �,2)� � �;0�,������4 '36 @�& ��& >@�& >��& ?@�2

/��
��	� �
���� + �	� % ���� �����	�� �	 ���7 ���� 7��
��( -��

�7������� �� ����� / ��� �������� �	 �������� 7��
��( %��;
�	� ��

+= / �	� % �� ��� ;���	���
 �	������� ��� ���
�
�� �	 ��� ���������

�7 � %��������������� �������	= ;������	� �	
7 ;��� 7��
��( ���	�

���� ����	�2��= ��� ;�;����� �	�������� �����&���E�D���&���6.�

�� %
 �	� �&���&���E�D���&���6.��� %� ���
� �� �����	��

>���;��� 8(!?(

+ ����	� �7	������ ;��K��� ���
� ���� ��� ���;
�	� �� ;�;�����

�� 	�� ����������� �� �������
�����	��!=3��������	7
�� ���� >���;���

8(3?( + ��	���
 ��������� �� ��� �7	�����
�� �	�������� G�&���+
��

+
� %�= /���E���&���+
� %� �	� G�&���E���+
� %& �� ��;����� �	

J���� '!(

+������	�

7= ��� ������ ;�;����� ���� �7	�����
�� ���� ������

�� ���	� ���� ��2��	�� �	 ����� �� ���;
� ���� �� ��� �
�����	�

�
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2��

� 0�0��& �,3 � 0��
�& �����
����� � 0����4 '26 )�� 0����&�,i
2��� 0�0��&

�����
����� � 0����4 '36 )��& �

���
��	� �
����(

-�� ����� ;��� �� ���� ;�� ������ ���
� ���� ��� ��;�����	�

��
 �	����������	 �� ��� �7	�����
�� ��	7
 ��
��	� ���
��	� �
����

�� ��

 �� ��� �����	�� ;�;����� 6.� �	� �
�����	������� �	�����

����( 9	 ��� �	� ��	�= �	
7����� ����7� ���� ������� ��� >���;���

8()(#?= �� ������� ��� ;����	���� �	�������	 �� ������� �7����	�

;�������� ������ �7 ��� �7	�����
�� ��
���
��( �	�����	���
7= 	��

	� �� ��� ���;��	�� ������ ���	�J��	� �	�������	 �� ��� ;��������

��������	�= ��
��;��	 ! �� �����;��	� /(

9	 ��� ����� ��	�= ����
 �7����� ���� ����
�;�� �� �����

��� �������	 ��	���� �� ��� �������	 �������	� �� ��� ��	7
 ��
��	�

�	� �
�����	� ���
��	� �
���� ���� � ������
� ����
 �� ��� �	
7��

R����7R(

+ ������������ ����
 ���
� �� ���
�
�� ���� ;��	7
 ����	� ����

�
 �	 ���������� �����	�
( ��������= �7 �������	 �� B�9D=  9D

��  9t/�= ��� ������	 ���� ��� ���;������ ����
��� ���
� �� ����

����( -�� �������	� ���� ��

���� �7 4<� �	� B�<��;��������;7
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*���$� ��� ������ �% ��� �������#���� ����
 ��
%���� -��� ������� �� ��� ����������
��-���� �����
���������
���

+� J��� �
�	��= ��� ����������
 ����
 ��� 	�� ��
� �� ;������

��� ��;�����	��

7 ����
���� ���������7 ���	�( B�������
���= ��� ���

��� �� ��� ��
��	� ����������� ����7�	� � ������ ���� �� ��� ��
��	�

�����7 >��
��	� ������ �� �	� ��= ��
��	� ����� �%? ��� ���������

�������
7( -�� ��
��
���� ��1���	�� �	 ���������	 �	���7 ������	

��� ��
��	� ������ �� �	� �� �� 0.7 kcal/mol( +;;
7�	� ��� +�����

	��� �2�����	 >���;��� 8(8(3= �2�����	 :)? �	��� ��� �����;���	

�� ���	����
 +����	��� ������� �� � ���;������� �� 25 ◦C= 9&�6.

�� ����
� ����� ������ ���	 9��6. �� �7 � ������ �� 3( 4	����=

��;�����	�� >���;��� 8(8(3? ������ � ������ �� !()( /������ �� ���

��1���	� ���������	�� �� ��� 	������	 ����= ����� �% �� 	�� �����

�����
7 ���;����
� �� ��� D������������ ����������
 ;�	��	�( -��

���	 �
���� �������	 �� ��� ��
��	� ����� ���;���� �� ��� ��
��	�

������ ��� ���

 �������
7 ;�������� ���� ��� ����������
 ����
(

���




 ����	�	��	 ��
�	�	
����	�


��������
����� 	���

� $���	"	��	 %�
 	"	
&���	�

�-� (��3����
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!����������������������
� >1D�B�<= 13%�B�<?, ��� B�<�

.;�����	 �����	 �	 ��	�� .;���������� ��� $���� /�����=

-7; +��	�� 8"" �����	����	( ��� +���������2��	
 ������

��� 1D�B�<�.;�����	 400.13 MHz �	� ��� 13%�B�<�.;�����	

100.61 MHz �	� ��� �������;������ 
�� ��� 300 K( ��� ����

������ 6���������	� δ ���� �	 ;;�= ���  �;;
�	����	���	��	

- �����	 �	 D
 �	������	( +
� �	���	�� .��	���� ���	�	= ��		

	���� �	���� �	������	= ��� <���	�	
���	�
� ��� <���;����	�	

��� �����	����	 �����������	 E0�������
�( 6����	���� E0�������


�	� ����	 <���;����	�	���	�
�, 1D, δ >%�%
3? P 7.26 ppm= δ

>�6� ��.9? P !(:" ;;�= δ >�4���9�? P 3.31 ppm= δ >�3�

��%B? P #(@8 ;;�= δ >�29? P 8(5@ ;;�N 13%, δ >%�%
3?

P 77.16 ppm= δ >�6���.9? P 39.52 ppm= δ >�4���9�? P

49.00 ppm= δ >�3���%B? P ##'(!) ;;�( $�� ��� ��
��;
�
�����	

��� .��	�
� �����	 ��� ��
��	��	 +����
�	��	 �����	���, �=

.�	��
���N �= ���
���N �= -��;
���N 2= T�������N ��= ���
��� ���

���
���N �2= ���
��� ��� T�������N �= ��
��;
���( ��� G����	�	�

���
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�	�	
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��� 1D� �	� 13%�.��	�
� ����
��� ���� !�� ����
����	��;�����	

>%9.V= D�T% �	� D�/%?(

�������������, ��� E%��.�+	�
7��	 �	� ��� �.4�

�����	�;�����	 �����	 �	������ �	 ��	�� +��
�	� ##"" 4�	-��;

�����	����	= ��� ��� ��	�� D&E%�.7���� ##"" ��	 +��
�	�

�������� ���= ���� �	 ��	�� $�		���	 -.T 5""" -��;
� .����

T�����;�
������	�;���������� ��� $�		���	 �
�����	�	�;��7

4�	������	��4	������� >�.4?= ������������ ��� ��	�� +;;
��� /���

�7����� #8" / D&E%�.7���� ��� .;��� -�����
�	 +������;
��(

.������������������
� /.(0, +

� 4<�.;�����	 �����	 �	 ��	��

����� $-F4< ��� .���� 8#"" �����
� +-< ��	���� �����	����	(

��� �	������	�	 ����� ��������	 ���� �
� ��

�	
��
�	 ν �	 ���

��	���� ��−1(

����
1�
�� "���*����, ��� �;�
�J����	 ��������� [α]20D ����

��	 �	 ��	�� &����	��
��� !8# &�
�������� �������
� >B�D�E�	��=

λ = 589 nm?(

�
�	������������
		��� /�	�0, ��� .����

;�	��� �����	

�	 ��	�� �1�	�	  �;�

��� �	 ��	�� *���� ��� $���� ����
�� -7;

���
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 /�����
��������!�� ��
�����
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�

��
���	��������
� >�%?, G�� <������	���	���

� ����

��	 ��� 0.2 mm  ����
��
 ������������ +
���	�����
��	 ���

$���� ����� �����	��� >)" $254?( G�� ��������	 ��� .�����	
�	

�����	 ��� $
�����
�	

0����	� ��� 254 nm �	� ��� +	���������

��
��	 ��� .�����	
�	 ����	���� ���
���� <����	
 >+��	�? �	�

B�	�7���	 >�(�( +��	������	? ��	��
�(

�2����
���	��������
� >.%?, +
� ������	��� &���� �����

 ����
��
 )" >0.063− 0.2 nm ����? ��� $���� �������7�B���


�����	���( ��� .��
�	 �����	 ��� ����	������ E0�������
 ���

;����( ��� G������	���
�	� ��� ����
�	 &���� ��� K����
� �	

6�
���	;��
�	� �	������	(

���




 ����	�	��	 ��
�	�	
����	�

#
�� ������	��
� �
3�
� ����	��������� >D&E%?, ��� +������

	���	� ��	���� G��
�����	��	��	 ����
��� �	 ��	�� 6����	 &��;����

D&E%�+	
��� ��� +������;
�� 8#" &��.���= �6��������� &���

.���= $������	�����
�� 5"# &��.��� ��� ��	�� ;��;�������	 &���

	���	�� D7;���
�	� 5 µm 9�. >%#'= 120W E% %�
��	 !:" �

21.2 mm? .��
� ��� +����	����
��������*�������	( ��� K����
���	

G������	���
�	��	 ��� *������� ��	� ��� ��	 G��
�����	��	�

��	 �	������	( ��� �6���������	 ����� ��� 215 nm ���� 254 nm

������������(

�-� �����0������

��� A�������������	 �	
7��+���7� �����	 �	 ��	�� %��7 ��
�;�

�� $
��������� ��	 6����	 ��� �����;
��� <����� ������������(

��� +���7� �����	 �	 ���Q�	 @)���

�����������;
����	 ��������

�����( ��� �	������	�	  �	
�	������	�	 ��	� �	���	
�	������	�	

��� ��	�� *�������
���	 ��	 200 µL( ��� <�����	
�����	��	

����
���	 ��	� G����� ��	 4	�������( �	
7�
0��	��	 �����	 ��

�����		�= ���� ��� 5 µL �� +���7 ��	� .�����	� ��	 !" ΔF/min

����
��	 ����(

���




 ����	�	��	 ��
�	�	
����	�

��
���� ��� ����������#��#��

$�
��;��	 !

+���7�������  �	��	����
����� +���7

6�
���	� 175 µL & \ 10 µL � \ 10 µL 4 \ 5 µL .

.������� %�
�&���+��]]+�%N H.I, 50 µM

�	
7� $�
��;��	 !N H M I, 21.5 µM

&�1�� +%�-+- :(: �

-��;������ 25 ◦C

��������	 λ, +	���, 380 nm= ��, 460 nm

���




 ����	�	��	 ��
�	�	
����	�

<�������	

+���7�������  �	��	����
����� +���7

6�
���	� 180 µL & \ 10 µL � \ 5 µL 4 \ 5 µL .

.������� %�
�&���+��]]+�%N H.I, 50 mM

�	
7� <�������	N H M I, 826.5 nM

&�1�� +%�-+- :(: �

-��;������ 25 ◦C

��������	 λ, +	���, 380 nm= ��, 460 nm

%����;��	 /

+���7�������  �	��	����
����� +���7

6�
���	� 180 µL & \ 5 µL � \ 10 µL 4 \ 5 µL .

.������� %�
�&���+��]]+�%N H.I, 100 µM

�	
7� %����;��	 /N H M I, 150 µM

&�1�� -<4. )(: �

-��;������ 25 ◦C

��������	 λ, +	���, 380 nm= ��, 490 nm

.+<.�%�6 �pro

+���7�������  �	��	����
����� +���7

6�
���	� 170 µL & \ 10 µL � \ 10 µL 4 \ 10 µL .

.������� +�
�.���6�
�-���E���*
	]].���*
7�-7�>3Z�B92?�

+��>���?9DN H.I, 50 µM

�	
7� .+<.�%�6 �proN H M I, 190 µM

&�1�� -<4. 5(: �

-��;������ 25 ◦C

��������	 λ, +	���, 325 nm= ��, 425 nm

��	




 ����	�	��	 ��
�	�	
����	�

.+<.�%�6 &Epro

+���7�������  �	��	����
����� +���7

6�
���	� 170 µL & \ 10 µL � \ 10 µL 4 \ 10 µL .

.������� G�+���E���+���*
7�*
7]]+�%

H.I, 50 µM

�	
7� .+<.�%�6 &EproN H M I, 850 µM

&�1�� -<4. 5(: �

-��;������ 25 ◦C

��������	 λ, +	���, 360 nm= ��, 460 nm

%����;��	 E

+���7�������  �	��	����
����� +���7

6�
���	� 180 µL & \ 5 µL � \ 10 µL 4 \ 5 µL .

.������� %�
�&���+��]]+�%N H.I, 6.25 µM

�	
7� %����;��	 EN H M I, 6.5 µM

&�1�� -<4. )(: �

-��;������ 25 ◦C

��������	 λ, +	���, 380 nm= ��, 460 nm

& P &�1��= � P �	
7�= 4 P 4	�������= . P .�������(

]]�������� ��� .;�
����

�(

� &�1��, +%�-+- ;D :(:= 50 mM= B�%
 200 mM= ��-+

5 mM= /��K 3: "("": O(

� &�1��, -<4. ;D )(:= 50 mM= B�%
 200 mM= ��-+ 5 mM=

/��K 3: "("": O(

� &�1��, -<4. ;D 5(:= 20 mM= B�%
 200 mM= ��-+

0.1 mM= /��K 3: "("": O(

��





 ����	�	��	 ��
�	�	
����	�

�-� /����)�����; 9���������

$�� ��� �	
7��������	 +���7� ����� ��.9 �8:8" ��� $����

.���� +
����� �����	���( ��� &�1�� ��� T��
���������� ;(�( ����

��	 ��	 ��� $���� 6�< �������	( ���
���� <����	
, .;����

�����	
 ��� 1 g ��������7
���	���	
�
���7� �	 100 mL ��	
(

D%
F��9D >#,3?N ��������	 ����� �����
�	 ��� ��( 130 ◦C( ����

D29 �	 ��	�� .7	����� �����	���= ��
���� ���� ����� +	���� ���

����	�������� �	� ����	���
�������� ������(

���




 ����	�	��	 ��
�	�	
����	�

������

<��!����� 
 &���( ��( %(  �����

�	��������� ���
����

/�
������ + %�
/������

/�
������ = %�
/������

��9�0/�( �pro &���( ��( %(  �����

�	��������� ���
����

��9�0/�( .+pro &���( ��( %(  �����

�	��������� ���
����

9�������� &���( ��( %(  �����

�	��������� ���
����

��$�
��
�

/$�0.��0���0��/ /�����

�0���0+��0���0���0���0��/ /�����

�$�0���0(��0	��0+��0���0���0���0 *�	.���;� %��;������	

	��>�?0682@0��� >�
�@87 B�� �����7= �.+?

���



� ����	�	��	 �����	�	�	����	�

� $���	"	��	 �����	�	"	����	�


-� 1��!����
$������

+	��
��	� �	 H5"I

1.0 eq( +.�D7�����
���� ���� �	 %D2%
2 ��
0�� �	� ��� 0 ◦C ���

�����
�= ����� ��	 ���	�� +���	����� ����� ��� E0��	� ��
�����

����( 4.0 eq( &7����	 �����	 ��	
�������	( B��� 20 min �����	

#(3 �2( &�����	
0��	� >!"O �	 -�
��
? �		����
� ��	 15 min 
��

�����;��= ����� ��	� *�
������	� 
� ���������	 ���( ��� <������

�	�������� ���� 2.5− 4 h ��� 0 ◦C �������( ��		 �����	 ��	���

0.05 eq( &�����	
0��	� ��	
�������	( ��� ��
�� ����	����� &����

���� ��� 0.50 M D%
 ������
� �	� !� ��� �����
��� D29 �����

����	( ��� �����	����	 ��������	 &����	 �����	 #� ��� %D2%
2

����������( ��� ����	����� &���� ���� �	���
��Q�	� ��� ��.94

�������	��( B��� �	����	�	 ��� E0�������
� �� 6����� ���� ���

4���7�	�� ����
��	( ������ ���� ��	� <��	���	� ������ �������
�(


-
 6/804�������

+	��
��	� �	 H')I

1.0 eq( 4���7�	�� ���� �	 ������	�� -D$ ��
0�� �	� ��� 0 ◦C ���

�����
�( �� �����	 1.1 eq( 8�����7
;�;���
�	 �
�( ���;��
�	 
��

�����;��( ��� <������	�������� ���� 30 min ��� <������;����

���



� ����	�	��	 �����	�	�	����	�

��� ������� �	� �	���
��Q�	� ���� ��� E0�������
 �� <������	��

������;��� �	����	�(


-� �!��
��������

��#�� ;)����	���)�	

+	��
��	� �	 H')='5I

1.0 eq( /�	
7
�������������
�� +. ���� �	��� +���	 �	 ��9D �	

��	�� D7���������� ��� ���	���������� �����
���( 1.00 mmol

;�� 103 mg .�����	
 #"O���� &�F% �����	 ���������� ��	
����

����	 �	� ��� ������	� ���� ��� ��( 15 bar D2 ��� 2 h �7������(

��� <������	�������	� ���� ���� %�
��� ����� ���� ��	�	 /����

	���������� ��J
������ �	� ��� ��9D 	�����������	( ��� E0��	�

���� ��� ��29 ������������� �	� 	��� 2 d �� ������� ��

� ���

<��	;������ �	 $��� ���Q��  �����

� �	(

��#�� !	��)�	��	��)����)�	

+	��
��	� �	 H'5I

1.0 eq( ����7
�������������
�� +. ���� �	 ��9D ��
0�� �	� ���

0 ◦C �������
�( 2.0 eq( E�9D �����	 ��	
�������	 �	� �� ����

2 h �������( ��� ���	� .���� ���� ����� ���������	 ��� ��9D �	�

�%� ��� ;D :�' ����
��	(

���



� ����	�	��	 �����	�	�	����	�

��#�# A���)��	����

+	��
��	� �	 H:"I

1.0 eq( +��	 �����	 �	��� +���	�+����;���� �	 �%� ��� 0 ◦C

��
0��( -�+ ���� ��	
�������	 �	� ��	 
���� ��� ������	� ���

�(�( �������	( 1.0 eq( -���7
��
���� ���� ;�����	������ ��	
������

��	 �	� �� ���� 2 d �������( G�� +���������	� ���� ��� <������

�	�������	� �	 D29 �������	 �	� ��� BD4%
� �	� B�%
�E0��	�

����������(

��#�. 6��
	����� �	� ���� ��������''	

+	��
��	� �	 H'5I

1.0 eq( /����������
�� .�����	
 ���� �	 �%� ��
0�� �	� ���

10.0 Volumeneq( -$+ ������
�( �� ���� ��( 2 h ������� ��� ���	�

*���	�����
�	� ���� 
� ���������	 ���( -$+ ���� �
� +
�����;

��� �%� ���� ��������� �����

����	 �� <������	�������;���

�	����	�(


-� 9���)
��� ��
 +���74

+	��
��	� �	 H5#I

��	�� E0��	� ��� 3.2 eq( E�+
D4 �	 20 mL -D$ �����	 ����

15 min ��� �(�( 1.0 eq( -������9�� ��� -������9�� �	 20 mL

-D$ 
������;��( ��� <������	�������	� ���� ��( 4 h ��A������

���



� ����	�	��	 �����	�	�	����	�

��� ��	� ����� <�������	� ���������� ����( �� ���� ���� B���� ���

�(�( ������� �	� ��� ������	� �	���
��Q�	� ��� ����	��	 ��	��	

D29= #:O���� B�9D�E��( �	� ��	��� D29 ��2��	���( ��� ��
�����

�������

�	�	 +
���	�����

� �����	 ���� %�
��� ��J
������ �	�

�� ���� ��� ���
 �%� 	�����������	 �	� ��� E0�������
 �� 6��

���� �	����	�( ��� <��;������ ��� ������� ���	 ��	�� ��� �������

�����
�	��	(


-� 8'���
��� ��!� �3���

+	��
��	� �	 H5#=''I

��	�� E0��	� ��� 1.5 eq( 9��
7
����
���� �	 2 mL �%� �����	

�����	� 10 min ��� −60 ◦C 2.0 eq( ��.9 �	 2 mL �%� 
����

����	( B��� �������	 10 min �����	 1.0 eq( +��	�������������

-������9D ��� -������9D 
������;�� �	� ������� 10 min �������(

4 eq( -�+ �	 2 mL �%� �����	 ��	
�������	 �	� �� ���� ���

−60 ◦C �������= ��� ��� �% ��

���	����	 �����
 
����(

��� <������	 ���� ��� −60 ◦C ��� ��	�� !"O���	  D.94�E0��	�

��2��	��� �	� ��� 10 mL &�	��	 �����		�( B��� �������	� ���

�(�( ���� ��� <������	�������� ��� ���(  D%93�E��( �	� B�%
�

E��( ���������� �	� ���� ��.94 �������	��( ��� &������ ����

	��� �	����	�	 ��� E0�������
� �� <������	�������;��� ������

�������
�(

���



� ����	�	��	 �����	�	�	����	�


-% .��
��)���������

��0�� &	'���
�''���� �� �	� !�
��%	��	

+	��
��	� �	 H:"I

��� ������	� ��� 1.0 eq( D���&���������� ����/= 1.2 eq( +���

	�������������= 1.2 eq( ��%4= 1.2 eq( D9/- �	� 2.0 eq( �4&�+

�	 5 mL ��$ ���� �	 ��� �������

� 66 min ��� 100 ◦C �����
�(

��		 �����	 ��	��� K� 0.5 eq( ��%4= D9/- �	� �4&�+ 
������

��	 �	� ��� <������	�������	� ���� ������� 60 min ��� 100 ◦C

�	 ��� �������

� �����
�(

��� ������	� ���� ��� �%� ���������� �	� ��� <��;������ ����

��
� $
������
�	�����������;��� ��������	���(

��0�� &	'���
�''����	� ��� ���B;"�A

+	��
��	� �	 H'5I

1.0 eq( /���+. �����	 �	 ��% ���� -D$ ��
0�� �	� ��� 0 ◦C

�������
�( 1.2 eq( �%%= 1.2 eq( D9/-= 1.0 eq( +��	 �	� 2.5 eq(

B�� �����	 ��	
�������	( ��� ��
������ ��	�
� <������	� �	

��� <������	�������	� ���� 	��� 24 h �����	� 2 h ���� ��	�	

���Q�	 *
��J
��������
 �	��� ����� ��J
������ �	� ��� ����
��	�

��	�
�= �
��� E0��	� ��� ���7
������= D29= B�D%93�E��( �	�

B�%
�E��( ����������( ��� <��;������ ���� ;�����	������ ���
�	�

�����������;����� ��������	���(

���



� ����	�	��	 �����	�	�	����	�

��0�# &	'���
�''����	� ��� &&�

+	��
��	� �	 H'@I

1.0 eq( +. ���� �	 ��9+� ��
0�� �	� ��� 0 ◦C �������
�( 3.5 eq(

:"O���� &&+ �	 ��$ �	� 2.0 eq( 8�����7
;�;���
�	 �����	

��	
�������	( �� ���� 1 h ��� 0 ◦C �	� �	���
��Q�	� 16 h ���

�(�( �������= ����� ��	� -����	� �	� 6�������	� 	��� ���Q 
�

���������	 ���( ��� <������	�������� ���� ��� ���( B�D%93�

E��(= D29 �	� ���( B�%
�E��( ����������( ��� ����	����� &����

���� �	���
��Q�	� ��� ��.94 �������	��( B��� �	����	�	 ���

E0�������
� �� 6����� ���� ��� <��;������ �����
� .��
�	�

�����������;��� �����	���(

���



� �����	����	
�	 �	
�������	�

� �����	����	
�	 %	
 ������	�

=���
���� "#� (�������"��0$�����
� 1���$�
����

> @0=����� 
0���!����
�0�0��������������
 ��06/8

Ph O Ph

O

NCO

������� !(#

1.30 g >4.46 mmol= 1.0 eq(? E�&��	7
�
�	�	��	
7
������

D7�����
����= 1.44 mL >17.80 mmol= 4.0 eq(? &7����	= 3.65 mL

>6.94 mmol= #(:) �2(? &�����	
0��	� >!"O �	 -�
��
?= 10 mL

%D2%
2

<������	�
���, 4 h

���������	, 2 mL 0.50 M D%
= 4 mL �����
��� D29= 4 mL %D2%
2(

4���7�	�� ���B%9 ���� ��	� <��	���	� ������ �������
�(

+�������, 965 mg >55O?

1H ��� >%�%
3?, 3("8 >��= 3- P #3(' �	� 8('"= &�%D2= #D?=

3(#: >��= 3- P #3(' �	� 5(:= &�%D2= #D?= 8(!@ >��= 3- P 5(: �	�

8('= %^D= #D?= :(#8 � :(!5 >�= 9%D2= !D?= 5("@ � 5(#: >�= Darom=

!D?= 5(!) � 5(3# >�= Darom= 3D?= 5(3# � 5(8! >�= Darom= :D?(

ESI (MS), ���( �( %15D17B93= !'#(##N ���(, !'! >�+·D?(

�����	�
������, 6/3#

��	



� �����	����	
�	 �	
�������	�

>!@0=����� 
0���!����
�0�0��������������
 �*06/8

Ph O

O

NCO

������� !(#

1.64 g >7.62 mmol= 1.0 eq(? ������7
�!����	��3�;��	7
;��;�	����

D7�����
����= 90 mL %D2%
2= 3.02 mL >30.48 mmol= 4.0 eq(?

&7����	= 5.20 mL >9.90 mmol= #(3 �2(? &�����	
0��	� >!"O �	

-�
��
?

<������	�
���, 2, 5 h

���������	, 2 mL 0.50 M D%
= 4 mL �����
��� D29= 4 mL %D2%
2

4���7�	�� �*�B%9 ���� ��	� <��	���	� ������ �������
�(

+�������, 1.51 g >5"O?

1H ��� >%�%
3?, !(@# � !(@' >�= &�%D2= !D?= 3(:5 >�= 9%D3=

3D?= 8(5" >�= 3- P :('= %^D= #D?= )(@' � 5("! >�= 	�Darom= !D?=

5(#" � 5(!# >�= ��F��Darom= 3D?(

13C ��� >%�%
3?, 3'()@ >&�%D2?= :!(3: >9%D3?= :8(#8 >%^D?=

#!5(## >��%Darom?= #!'()# >��%Darom?= #!@(:" >	�%Darom?=

#3)(!! >%2arom?= #:)(3# >B%9?= #53(!8 >%P9?(

IR, 338:= 3"!5= !@:"= #58"= #5#!= #)3#= #:))= #83@= #3:5= #3""=

#!)!= #!"8= ##5)= #"!5= 5@'= 5:"= )@5(

spez.Drehung, HαI20DP �)!(3� >� P "(5@= %D%
3?

��




� �����	����	
�	 �	
�������	�

Smp., 157.1 ◦C

�����	�
������, 6/5:

> @0=����� 
0���!����
�0�0��
������
����
 ��06/8

O Ph

O

NCO

������� !(#

1.50 g >3.81 mmol= 1.0 eq(? >� ?�/�	
7
�!����	��8�����7
;�	��	����

D7�����
����= 10 mL %D2%
2= 1.51 mL >15.2 mmol= 4.0 eq(?

&7����	= 2.60 mL >4.96 mmol= #(3 �2(? &�����	
0��	� >!"O �	

-�
��
?

<������	�
���, 4 h

���������	, 2 mL 0.50 M D%
= 4 mL �����
��� D29= 4 mL %D2%
2

4���7�	�� ���B%9 ���� ��	� <��	���	� ������ �������
�(

+�������, 1.47 g >##5O?

�����	�
������, 6/))

���



� �����	����	
�	 �	
�������	�

>!@0=����� 
0���!����
�0�0��
������
����
 �
06/8

O Ph

O

NCO

������� !(#

3.00 g >7.60 mmol= 1.0 eq(? >(?�/�	
7
�!����	��8�����7
;�	��	����

D7�����
����= 20 mL %D2%
2= 3.01 mL >30.4 mmol= 4.0 eq(?

&7����	= 5.20 mL >9.90 mmol= #(3 �2(? &�����	
0��	� >!"O �	

-�
��
?

<������	�
���, 2.5 h

���������	, 2 mL 0.50 M D%
= 4 mL �����
��� D29= 4 mL %D2%
2

4���7�	�� �
�B%9 ���� ��	� <��	���	� ������ �������
�(

+�������, 2.40 g >#!'O?

�����	�
������, 6/5#

> @0=����� 
0>�0��
������������0�0!��$�'�����@0�0������0

��������
 �.0��

N

N N

O
Ph

O

O

Ph

������� !(!

598 mg >3.41 mmol= 1.0 eq(? ���B%9= 5 mL ������	�� -D$=

���



� �����	����	
�	 �	
�������	�

420 µL >3.75 mmol= 1.1 eq(? 8�����7
;�;���
�	

+�������, 958 mg >58O?

1H ��� >%�%
3?, 3(## >�= 3- P :(!= &�%D2 &��= !D?= 3(3" � 3(3'

>�= !� B>%P9?%D2= 8D?= !(!@ >�= B%D3= 3D?= !(33 � !(8" >�=

B%D2= !D=? 8('" � 8('@ >�= %^D= #D?= :(#" >�= 2- P #!(#= &�%D2

9�
= #D?= :(#@ >�= 2- P #!(#= &�%D2 9�
= #D?= )(@) � 5("! >�=

Darom= !D?= 5(#@ � 5(!3 >�= Darom= 3D?= 5(!5 � 5(3! >�= Darom=

!D?= 5(33 � 5(3@ >�= Darom= 3D?(

13C ��� >%�%
3?, 3'(8# >&�%D2 &��?= 83(58 >B>%P9?%D2?=

8)(#) >B%D3?= :8(8: >%^D?= :8()) >B%D2?= )5(!' >&�%D2 9�
?=

#3:(35 >%2arom 9�
?= #3)(!! >%2arom &��?= #!5(#" >%Darom?=

#!'()# >%Darom?= #!'(5" >%Darom?= #!'(53 >%Darom?= #!@(:!

>%Darom?= #:)(:@ >%2 D��	���1?= #5!()# >%2 �����?(

IR, 33#!= !@8#= !5')= #53'= #)#:= #:3!= #8::= #8":= #!@#= #!):=

##)@= #"@3= #""#= 58!= )@5(

ESI(MS), ���( �( %2D27B393= 3'#(!#N ���(, 3'! >@@? >�+·D?(

spez.Drehung, HαI20DP �#(3� >� P "('3= %D%
3?

�����	�
������, 6/3!

���



� �����	����	
�	 �	
�������	�

>!@0��
��� 
0>�0��
������������0�0!��$�'�����@0�0������0

��������
 �.0�*

N

N N
H

O
Ph

O

O

������� !(!

989 mg >3.50 mmol= 1.0 eq(? �*�B%9= 5 mL ������	�� -D$=

428 µL >3.85 mmol= 1.1 eq(? 8�����7
;�;���
�	

+�������, 1.29 g >#!"O?

1H ��� >%�%
3?, !(!! >�= B%D3= 3D?= !(!: � !(3# >�= !� B%D2=

8D?= !(@3 � 3(#! >�= &�%D2= !D?= 3(!" � 3(!: >�= !� B>%P9?%D2=

8D?= 3(): >�= 9%D3= 3D?= 8()5 � 8(5: >�= %^D= #D?= 8('! >�=

3- P 5(:= BD= #D?= )(@@ � 5("5 >�= 	�Darom= !D?= 5(#3 � 5(!) >�=

�4��%Darom= 3D?(

13C ��� >%�%
3?, 3'(88 >&�%D2?= 83(55 >!� B>%P9?%D2?=

8)(#@ >B%D3?= :!(!@ >9%D3?= :8(8: >%^D?= :8()' >!� B%D2?=

#!5(#" >��%Darom?= #!'(:@ >��%Darom?= #!@(8# >	�%Darom?=

#3)(3) >%2arom? #:)()" >%2 D��	���1?= #53(!! >%2 �����?(

IR, 335:= 3"!5= !@3@= !':#= !'""= #:@#= #:3:= #8@)= #3@"= #!)3=

@5'= )@@(

spez.Drehung, HαI20DP �8(:� >� P #(":= %D%
3?

���



� �����	����	
�	 �	
�������	�

�����	�
������, 6/5@�

>!@0=����� �0��
���0
0>�0��
������������0�0!��$�'�����@0

���
����
 �.0�


N

N N
H

O

O

O

Ph

������� !(!

1.00 g >4.04 mmol= 1.0 eq(? �
�B%9= 5 mL ������	�� -D$=

494 µL >4.45 mmol= 1.1 eq(? 8�����7
;�;���
�	

��� <��;������ ���� ����� ��������� .��
�	������������

;��� ��������	��� >�
��	� #( &�F��9+� ',# ��� 8,#= �
��	� !(

��9+�F��9D !,# ��� #,!= �
��	� 3( ��9+�F��9D 8,#?( $�� ���

&������ �&��
 ������ ���� ��� <f P "(!3 >��9+�F��9D #,!?(

+�������, 298 mg >!#O?

1H ��� >%�%
3?, "(@" � "(@8 >�= !� %D3 E��= )D?= #(8) � #(:)

>�= %D2 E��= #D?= #(:' � #(5" >�= %D �	� %D2 E��= !D?= !(3"

>�= B%D3= 3D?= !(3) � !(8: >�= !� B%D2= 8D?= 3(3' � 3(8: >�= !�

B>%P9?%D2= 8D?= 8(8# � 8()" >�= %^D= #D?= 8('# >�= 3- P '(#=

BD= #D?= :("5 � :(!3 >�= &�%D2= !D?= 5(8" � 5(!' >�= Darom= :D?(

13C ��� >%�%
3?, !!(!# >%D3 E��?= !!(@# >%D3 E��?= !:("8 >%D

���



� �����	����	
�	 �	
�������	�

E��?= 8!(#3 >%D2 E��?= 83('5 >!� B>%P9?%D2?= 8)(!# >B%D3?=

:!(8# >%^D?= :8(58 >!� B%D2?= )5("5 >&�%D2?= #!'(!@ >%Darom?=

#!'(8: >%Darom?= #!'(5# >%Darom?= #3:(5@ >%2arom?= #:5(#' >%2

D��	���1?= #58(8" >%2 �����?(

�����	�
������, 6/58

> @0=����� 
0>���������0�0!��$�'�����@0�0������0��������


��0��

O

N N
H

O
Ph

O

O

Ph

������� !(!

1.50 g >5.30 mmol= 1.0 eq(? ���B%9= 8 mL ������	�� -D$=

510 µL >5.80 mmol= 1.1 eq(? ���;��
�	

��� <��;������ ���� ��� ��	�� *������ ��� &�F��9+� ����


�	�����������;����� ��� ��	�� *�����	��	 ��	 ',# ��� 8,#

��������	���(

+�������, 1.25 g >)#O?

1H ��� >%�%
3?, 3("" � 3(#5 >�= &�%D2= !D?= 3(!" � !(8# >�= !�

B%D2= 8D?= 3(:# � 3(55 >�= !� 9%D2= 8D?= :(##( >�= 2- P #!(#=

&�%D2 9�
= #D?= :(!" >�= 2- P #!(#= &�%D2 9�
= #D?= )(@8 �

���



� �����	����	
�	 �	
�������	�

5("8 >�= Darom= !D?= 5(#5 � 5(!: >�= Darom= 3D?= 5(!' � 5(38 >�=

Darom= !D?= 5(38 � 5(8# >�= Darom= 3D?(

�����	�
������, 6/@"�

>!@0��
��� 
0>���������0�0!��$�'�����@0�0��������������


��0�*

O

N N
H

O
Ph

O

O

������� !(!

565 mg >2.00 mmol= 1.0 eq(? �*�B%9= 5 mL ������	�� -D$=

194 µL >2.20 mmol= 1.1 eq(? ���;��
�	

��� <��;������ ���� ��� ��	�� *������ ��� &�F��9+� ��

6����
�	�� 8,# ��� ��9+� #""O ���
�	�����������;����� ������

���	���( $�� ��� &������ ����* ������ ���� ��� <f P "(!@ �	 #,!

&�F��9+�(

+�������, 482 mg >@)O?

1H ��� >%�%
3?, 3("! � 3(#5 >�= &�%D2= !D?= 3(!# � 3(3: >�= !�

B%D2= 8D?= 3(:: � 3(): >�= !� 9%D2= 8D?= 3()@ >�= 9%D3= 3D?=

8(5) >��= 3- P #!(@ �	� )()= %^D= #D?= :("# >�= 3- P )()= BD=

#D?= 5(") � 5(#: >�= Darom = !D?= 5(#' � 5(3" >�= Darom = 3D?(

���



� �����	����	
�	 �	
�������	�

�����	�
������, 6/'@�

> @0=����� �0��
���0
0>���������0�0!��$�'�����@0���
����


��0��

O

N N
H

O

O

O

Ph

������� !(!

350 mg >1.42 mmol= 1.0 eq(? ���B%9= 3 mL ������	�� -D$=

137 µL >1.56 mmol= 1.1 eq(? ���;��
�	

��� <��;������ ���� ��� ��	�� *������ ��� &�F��9+� ��

6����
�	�� ',# ��� 8,# ���
�	�����������;����� ��������	���( $��

��� &������ ����� ������ ���� ��� <f P "("' �	 ),# &�F��9+�(

+�������, 186 mg >3@O?

1H ��� >%�%
3?, "(') � "(@) >�= !� %D3 E��= )D?= #(8# � #(:!

>�= %D2 E��= #D?= #(:5 � #(5: >�= %D �	� %D2 E��= !D?= !(@:

� 3("! >�= !� B%D2= 8D?= 3(5# � 3(5) >�= !� 9%D2= 8D?= 8(85 �

8(:@ >�= %^D= #D?= 8(5) >��= BD= #D?= :(#" � :(!# >�= &�%D2=

!D?= 5(33 � 5(3) >�= Darom= 3D?= 5()! � 5()) >�= Darom= !D?(

13C ��� >%�%
3?, !!("8 >%D3 E��?= !!('5 >%D3 E��?= !8(5@ >%D

E��?= 8!("! >%D2 E��?= 8)("5 >!� B%D2?= :#(5@ >%^D?= ))(#: >!�

���



� �����	����	
�	 �	
�������	�

9%D2?= ))(@" >&�%D2?= #!5(@) >!� %Darom?= #3:()3 >%2arom?=

#!'(:@ >%Darom?= #!@('! >!� %Darom?= #:5(") >%2 D��	���1?=

#58(#: >%2 �����?(

�����	�
������, 6/55�

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H@"I

>!@0=����� �0��
���0
0>���������0�0!��$�'�����@���
����


��0�


O

N N
H

O

O

O

Ph

������� !(!

1.00 g >4.40 mmol= 1.0 eq(? �
�B%9= 5 mL ������	�� -D$=

390 µL >4.44 mmol= 1.1 eq(? ���;��
�	

��� <��;������ ���� ��� ��	�� *������ ��� &�F��9+�

���
�	�����������;����� ��� ��	�� *�����	� ��	 ',# ��� 8,#

��������	���( $������	 3 ����� ��	��� ��� &�F��9+� 8,# ������

���	���(

+�������, 312 mg >!#O?

1H ��� >%�%
3?, "(': � #("# >�= !� %D3 E��= )D?= #(35 � #(:'

>�= %D2 E��= #D?= #(:' � #(5# >�= %D �	� %D2 E��= !D?= 3(!'

��	



� �����	����	
�	 �	
�������	�

� 3(8: >�= !� B%D2= 8D?= 3()! � 3(5) >�= !� 9%D2= 8D?= 8(:# �

8()5 >�= %^D= #D?= 8('! >�= 3- P '(!= BD= #D?= :("! � :(!@ >�=

&�%D2= !D?= 5(!@ � 5(8" >�= Darom= :D?(

�����	�
������, 6/'"�

> @0
0>�0��
������������0�0!��$�'�����@0�0�������������:���

�.0��0/887

N

N N
H

O
Ph

OH

O

������� !(3(#

939 mg >2.45 mmol? /�	
7
����� �&���= ��( 4 mL ��9D=

247 mg #"O��� &�F%( B��� 2 d �� ������� ��

� ��� <��	;������

�	 $��� ���Q��  �����

� �	(

+�������, 265 mg >8"O?

1H ��� >%�%
3?, !(:: >�= B%D3= 3D?= !()5 � !(': >�= !� B%D2

�&= 8D?= 3(": � 3(#) >�= &�%D2= #D? 3(#@ � 3(!' >�= &�%D2=

#D?= 3(3' � 3()@ >�= !� B>%P9?%D2 �&= 8D?= 8(85 � 8( :' >�=

%^D= #D?= 5(#@ � 5(!8 >�= Darom= 3D?= 5(!) � 5(!@ >�= Darom= 3D?(

IR, 33'8= !@!8= !88"= !#:@= !"!'= #@5)= #)3@= #:'!= #:3#= #8:8=

#3@"= #35"= #!88= #!""= @55= ''8= 5:#= 5":= )3'(

��




� �����	����	
�	 �	
�������	�

ESI (MS), ���( �( %15D21B393= !@#(#)N ���(, !@" >�+·�D P%99−?=

!@! >�+·D?(

spez.Drehung, HαI20DP \#(@� >� P "("")#= %D%
3?

�����	�
������, 6/8

>!@0
0>�0��
������������0�0!��$�'�����@0�0�������������:���

�.0�*0/887

N

N N
H

O
Ph

OH

O

������� !(3(!

1.29 g >4.23 mmol? ����7
����� �&��*= ��( 7.5 mL ��9D=

��( 10 mL 1.0 M B�9D ����� E�9D= ��� ��( 5 mL 1.0 M D%


	�����
������	= ��9D �������

����	( B��� U�����������	� ���

4.2 mL D%
 �	� 2 d �� ������� ��

� ��� <��	;������ �	 $���

���Q��  �����

� �	(

+�������, 2.59 g >5!O?

1H ��� >%�%
3?, !(!5 >�= B%D3= 3D?= !(38 � !(:" >�= !� B%D2

�&= 8D?= !(@# � 3("8 >�= &�%D2= #D? 3(#! � 3(!# >�= &�%D2=

#D?= 3(!! � 3(83 >�= !� B>%P9?%D2 �&= 8D?= 8(3) � 8( 85 >�=

%^D= #D?= :(5! >��= BD= #D?= 5(## � 5(#5 >�= Darom= :D?(

���



� �����	����	
�	 �	
�������	�

13C ��� >%�%
3?, 88(5" >B%D3?= :3()" >!� B%D2 �&?= 3'(3#

>&�%D2?= 8!()# >!� B>%P9?%D2 �&?= :)('5 >%^D?= #!)(8@

>%Darom?= #!'(3! %Darom= #!@(): %Darom= #3'()" >%2arom?= #:5()"

>%2 D��	���1?= #5'(!8 >%2 .����?(

ESI (MS), ���( �( %15D21B393= !@#(#)N ���(, !@! >�+·D?(

�����	�
������, 6/5@�

>!@0�0��
���0
0>�0��
������������0�0!��$�'�����@0

���
���:��� �.0�
0/887

N

N N
H

O

OH

O

������� !(3(#

298 mg >0.85 mmol? /�	
7
����� �&��
= ��( 4 mL ��9D=

100 mg #"O���� &�F%= 8 bar D2

+������� >���?, 173 mg >5'O?

��� <��;������ ��

� �
� ��
��� _
 �	( �� �	���
� -�
��
 �	� B��

��	;�������= ��� ��� #�� �	� !��B�<�.;�����	 
����	( �� ��	�

	���� �

� .��	�
� 
�
����	�	= ��		��� ��		 ��� ��� +�����	����

��� &����	�	 ��� /�	
7
�����
���;;� >∼5.15 ppm? ����� ���

�����������������	 .�����4<�/�	�� ��� 2800− 3000 cm−1 ��	�

���



� �����	����	
�	 �	
�������	�

����
������� D7�����	�
7�� ����
���� �����	(

1H ��� >%�39�?, "(') � #("! >�= !� %D3 E��= )D?= !(3# � !(3!

>�= B%D3= 3D?= !(8: � !(:: >�= !� B%D2= 8D?= 3(8" � 3()8 >�= !�

B>%P9?%D2= 8D?(

13C ��� >%�39�?, !!(#@ >%D3 E��?= 88(@# >!� B>%P9?%D2?=

8:(@) >B%D3?= ::(88 >!� B%D2?(

IR, 33#@= !@:8= !')@= !'""= #5#!= #)35= #885= ##5!= ##!:= #"35=

#"#!= #""#= '#8= )')(

�����	�
������, 6/58

> @0
0>���������0�0!��$�'�����@0�0�������������:���

��0��0/887

O

N N
H

O
Ph

OH

O O

N N
H

O
Ph

OMe

O

bzw.

>��.3�$��� ��)!.���� >��.3�$��>�

������� !(3(#

1.25 g >3.23 mmol? /�	
7
����� �����= ��( 8 mL ��9D= 330 mg

!"O���� &�F%= 5 bar D2

+�������, 850 mg >)'O?

��� &������ ��

� �
� ����	�� _
 �	( #�� �	� !��B�<�.;�����	

���



� �����	����	
�	 �	
�������	�


����	 ��	� ����
������� D7�����	�
7��( +

����	�� ���� ��� �����

.���� �����	� ��� <������	 ������ ��� ��� E0�������
 >��9D?

���������( >6�
( B�< ��	 �	�	������, �����&���9�� ����*?(

1H ��� >%�39�?, !(@# � 3("3 >�= &�%D2= #D?= 3("5 � 3(#@ >�=

&�%D2= #D?= 3(3# >��= !� B%D2= 8D?= 3(:5 >��= !� 9%D2= 8D?=

3()5 >��= 9%D3 �����= 3D?= 8(8@ >��= %^D= #D?= 8('8 >��= BD=

#D?= 5(#! � 5(33 >�= Darom= :D?(

13C ��� >%�39�?, 3'(3: >&�%D2?= 8:(!: >!� B%D2?= :!(:5

>9%D3 �����?= :)(55 >%^D?= )5(8) >!� 9%D2?= #!5()5 >%arom?=

#!@(3: >%arom?= #3"(#8 >%arom?= #3'(): >%2arom?= #58(5! >%2

%99D?(

IR >�����?, 33##= !'8@= #58!= #)#@= #:!'= #!)'= #!""= ###)= @@:=

5""(

ESI (MS), ���( �( %15D20B292= !@!(33N ���(, !@3 >�+·D �����?(

Smp., 79.8 ◦C

spez.Drehung, HαI20DP \!)(@� >� P "("#8= %D%
3?

�����	�
������, 6/@"�

���
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>!@0
0>���������0�0!��$�'�����@0�0�������������:���

��0�*0/887

O
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H

O
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OH

O

������� !(3(!

482 mg >1.54 mmol? ����7
����� ����*= 86.7 mg >3.62 mmol=

2.0 eq(? E�9D= 8 mL ��9D

+�������, 417 mg >@5O?

1H ��� >%�%
3?, !(@@ � 3("' >�= &�%D2= #D?= 3("@ � 3(!' >�=

&�%D2= !� B%D2= :D?= 3(85 � 3()" >�= 9%D2= 8D?= 8(:: � 8()8 >�=

%^D= #D?= 8(@) >�= 3- P 5(!= BD= #D?= 5("5 � 5(#8 >�= ��Darom=

!D?= 5(#8 � 5( !) >�= �4	�Darom= 3D?(

13C ��� >%�%
3?, 35(:3 >&�%D2?= 88("5 >B%D2?= :8(@: >%^D?=

))(8# >!� 9%D2?= #!5(!) >��%Darom?= #!'(55 >	�%Darom?= #!@(88

>��%Darom?= #3)(8# >%2arom?= #:5(5" >%2 D��	���1?= #58(@: >%2

�����?(

IR, 33:8= !@!!= !':3= #5!#= #)!8= #:!8= #8:8= #3@5= #!)"= ##@)=

###!= @@3= ':@= 5::= 5""(

spez.Drehung, HαI20DP �#5(@� >� P "(5:= %D%
3?

ESI (MS), ���( �( %14D18B292= !5'(3"N ���(, !5@ >�+·D?(

���



� �����	����	
�	 �	
�������	�

�����	�
������, 6/'@�

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H@#I

> @0�0��
���0
0>���������0�0!��$�'�����@0���
���:���

��0��0/887

O

N N
H

O

OH

O

������� !(3(#

186 mg >0.55 mmol? /�	
7
����� �����= ��( 15 mL ��9D=

134 mg !"O���� &�F%= 7− 8 bar D2

+�������, 384 mg >!')O? >���?

��� <��;������ ��

� �
� ����	�� _
 �	( �� ��	� �����
� #��

�	� !��B�<�.;��������;�� 	���� �

� ��
���
������	�� 
�
��
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������� D7������
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1H ��� >��.9��6?, "(5: � "('@ >�?= #("3 >��= #D?= #(!" >��=

!D?= #(8" >��= #D?= #(:@ >��= #D?= !('" >��= !� B%D2= 8D?= 3(3'

>�?= 3(:' >��= !� 9%D2= 8D?= 8(3# >��= %^D= #D?(

���
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13C ��� >��.9��6?, #8(:"= 3#()!= 8:(3# >!� B%D2?= )8(5: >!�

9%D2?= '@("#(

IR, 33'"= !@58= !@!@= !'5"= #:@5= #:)"= #8:"= #!)!= ##)"= #"@!=

#"3'= @8!= '5)= '#:= 53"= ):!(

ESI (MS), ���( �( %11D20B294= !88(#8N ���(, !83 >�+·�D P %99−?(

�����	�
������, 6/55�

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H@"I
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O

Cl

+	��
��	� �	 H'5I

2.50 g >8.95 mmol? /���E�D���&�� �����	 �	 120 mL !=!�

��������7;��;�	 ��
0�� �	� ��� ��( 9 mL ��	
( D%
 ������
�(

��� <������	�������	� ���� ���� B���� ��� �(�( �������( !=!�

��������7;��;�	 ���� �� <������	�������;��� �	����	� �	� ���

����� ����	� <������	� ���� �	 ��	�� ��9D �����	����	 �	�

��� ��29 �������������( ��� &������ ���9�� ��

� �
� D%
�.�
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+�������, 1.88 g >@!O?
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1H ��� >%�%
3?, !(3' � !(88 >�= &�%D2= !D?= !('3 � !(@@ >�=

%^D%#2= !D?= 3(5" >�= 9%D3= 3D?= 8(## >��= %^D= #D?= 5(#) �

5(!' >�= Darom= :D?(

�����	�
������, 6/83
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NH3
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O

Cl

+	��
��	� �	 H'5I

2.35 g >8.41 mmol? /�����D���&�� �����	 �	 120 mL !=!�

��������7;��;�	 ��
0�� �	� ��� ��( 9 mL ��	
( D%
 ������
�(

��� <������	�������	� ���� ���� B���� ��� �(�( �������( !=!�

��������7;��;�	 ���� �� <������	�������;��� �	����	� �	� ���

����� ����	� <������	� ���� �	 ��	�� ��9D �����	����	 �	�

��� ��29 �������������( ��� &������ ���9�� ��

� �
� D%
�.�
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+�������, 1.74 g >@'O?

1H ��� >%�%
3?, !(3! � !(8' >�= %^D%#2= !D?= !(5' � 3("" >�=

&�%D2= !D?= 3()) >�= 9%D3= 3D?= 8("' � 8(!) >�= %^D= #D?= 5(##

� 5(#5 >�= ��Darom= #D?= 5(#' � 5(!3 >�= 	�Darom= !D?= 5(!3 � 5(!'

���
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>�= ��Darom= !D?= @("# >�= BD3= 3D?(

13C ��� >%�%
3?, 3#(!) >&�%D2?= 3!(#3 >%^D%#2?= :3(")

>%^D?= :3(!8 >9%D3?= #!)(8! >��%Darom?= #!'(:@ >	�%Darom?=

#!'('" >��%Darom?= #3@('' >%2arom?= #)@(5) >%2 �����?(

IR, !'8#= #538= #:5'= #:"'= #8:#= #83!= #!8#= ##@'= #")!= 5:'= 53@=

)@5(

ESI(MS), ���( �( %11D15B92= #@3(##N ���(, #@8 >�+·D? >5)?(

spez.Drehung, HαI20DP �!)(3� >� P "(@#= %D%
3?

Smp., > 300 ◦C

�����	�
������, 6/#"3
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3.12 g >14.5 mmol? &��	7
�
�	�	����7
������D7�����
����=

60 mL �%�= ��( 7 mL -�+= 4.86 g >55.7 mmol= 1.0 eq(? -���7
�

��
����= 10 mL D29

+�������, 4.32 g >5"O?

1H ��� >%�%
3?, #()! >�= 3- P #"(@= BD= #D?= !(') � 3("" >�=

��	
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&�%D2= !D?= 3("3 >�= 9%D3= 3D?= 3(8' � 3()# >�= %^D= #D?= 5(##

� 5(88 >�= Darom= !"D?(

13C ��� >%�%
3?, 8!(:" >&�%D2?= :#(3' >9%D3?= :'(:" >%^D?=

5#(#3 >%2 -��?= #!)(88 >%Darom?= #!)('" >%Darom?= #!5(35

>%Darom?= #!5('' >%Darom?= #!'("8 >%Darom?= #!'(") >%Darom?=

#!'(3: >%Darom?= #!'(@8 >%Darom?= #!@(@8 >%Darom?= #35():

>%2arom?= #8:(@@ >%2arom?= #85("# >%2arom?= #5:("8 >%2 �����?(

ESI(MS), ���( �( %29D27B92= 8!#(!"N ���(, 8!# >�+·?= 888 >�+·?B�(

Smp., 214.5 ◦C

spez.Drehung, HαI20DP \:8("� >� P "("#'= %D%
3?

�����	�
������, 6/:)F':
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4.85 g >9.42 mmol? ���9��= 8 mL �%�= ��( 2.5 mL -�+= 1.35 g

>4.85 mmol= 1.0 eq(? -���7
��
����= 8 mL D29

+�������, 1.93 g >@#O?
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1H ��� >%�%
3?, #(@' � !(#) >�= %^D%D2= !D?= !(:: � !('" >�=

&�%D2= !D?= 3(#@ >�= 9%D3= 3D?= 3(8" � 3(:# >�= %^D= #D?= 5(#8

� 5(3: >�= Darom= #:D?= 5(8' � 5(:8 >�= Darom= :D?(

13C ��� >%�%
3?, 3#(5! >&�%D2?= 35(:# >%^D%D2?= :#(8'

>9%D3?= :)("@ >%^D?= 5#(!# >%2 -��?= #!:(@) >��%arom &�?=

#!)(8! >��%arom -��?= #!5('3 >��%arom &�?= #!5(@) >��%arom -��?=

#!5(@' >��%arom -��?= #!'(3' >	�%arom -��?= #!'(8: >	�%arom

-��?= #!'(') >	�%arom &�?= #8#(5# >%2arom &�?= #8)("3 >%2arom

-��?= #5#(3: >%2 �����?(

IR, 38"8= !@!"= !')'= #88'= #35)= #38@= ##":= #"):= @38= '')= 5)3=

5"!(

ESI(MS), ���( �( %30D29B92= 83:(!!N ���(, 83: >�+·?= 8:' >�+·B�?(

Smp., 100.1 ◦C

�����	�
������, #"!�F:!F85

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H:"I
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1.59 g >8.22 mmol? ���9��= 12 mL �%�= ��( 3.5 mL -�+=

2.29 g >8.22 mmol= 1.0 eq(? -���7
��
����= 8 mL D29

+�������, 3.19 g >'@O?

1H ��� >%�%
3?, #(@5 � !(#8 >�= %^D%D2= !D?= !(:: � !(5# >�=

&�%D2= !D?= 3(!" >�= 9%D3= 3D?= 3(3@ � 3(:" >�= %^D= #D?= 5(#8

� 5(3) >�= Darom= #:D?= 5(8' � 5(:3 >�= Darom= :D?(

13C ��� >%�%
3?, 3#('" >&�%D2?= 35(:@ >%^D%D2?= :#(:)

>9%D3?= :)(#' >%^D?= 5#(!@ >%2 -��?= #!)("8 >��%Darom &�?=

#!)(:" >��%Darom -��?= #!'(": >��%Darom &�?= #!'(8) >��%Darom

-��?= #!'(:3 >��%Darom -��?= #!'(@: >	�%Darom -��?= #8#(5@

>%2arom &�?= #8)(## >%2arom -��?= #85("! >%2arom -��?= #5:(83

>%2 �����?(

�����	�
������, 6/#"8

���



� �����	����	
�	 �	
�������	�

> @0�0.�����0
0>
��
�������@������� 	�
0��087

Trt

H
N

OH

Ph

������� !(8

2.89 g >77.0 mmol= 3.2 eq(? E�+
D4 �	 20 mL -D$= 12.61 g

>24.0 mmol= 1.0 eq(? -������9�� �	 20 mL -D$

T��	���	 ��� 1.3 mL D29= 1.3 mL #:O���� B�9D�E��(= 4.0 mL

D29

��� ���
�	�����������;������ +�����	���	� ��	�� �
��	�	 ��	��

��� <��;������� ��� ��	�� #!,# *������ ��� &�	��	F���7
������

������ 
�� ���������	��	 G�����
�	� ��� &�������= ����� �����

��� <��;����� ������ �������
�(

+�������, 1.32 g >#3@O?

1H ��� >%�%
3?, !(88 � !(:: >�= &�%D2= #D?= !()# � !(5#

>�= &�%D2= #D?= !(@# � 3("# >�= D9%# 2= #D?= 3("# � 3("' >�=

D9%# 2= #D?= 3(#@ � 3(!@ >�= %^D= #D?= 5(#" >�= 3- P 5(!= Darom

-��= !D?= 5(#5 � 5(8' >�= Darom -�� �	� &��= #3D?= 5(53 >�= 3- P

5(5= Darom -��= !D?(

13C ��� >%�%
3?, 3@("5 >&�%D2?= ::(3) >%^D?= )!(3# >%D29D?=

5#(!: >%2 -��?= #!:(@@ >%Darom?= #!)(8! >%Darom?= #!5(":

>%Darom?= #!5(5' >%Darom?= #!5(') >%Darom?= #!5(@) >%Darom?=

���
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#!'(!" >%Darom -��?= #!@(83 >%Darom -��?= #3@("@ >%2arom &��?=

#8)()) >%2arom -��?= #85(") >%2arom -��?(

IR, 3":)= 3"!8= !@3!= !'55= #:@:= #8@"= #88)= #!"5= ##:8= #"!@=

@""= 583= )@)(

ESI(MS), ���( �( %28D27B9= 3@3(!#N ���(, 3@8 >�+·D? >#""?(

spez.Drehung, HαI20DP �#3#('� >� P "(#3= %D%
3?

�����	�
������, 6/#")
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531 mg >14.14 mmol= 3.2 eq(? E�+
D4 �	 8 mL -D$= 1.93 g

>4.42 mmol= 1.0 eq(? �	 8 mL -D$

T��	���	 ��� 0.3 mL D29= 0.3 mL #:O���� B�9D�E��(= 0.9 mL

D29

��� <��;������ ��� ������� ���	 ��	�� ��� ������� �����
�	�

��	( ��� ���
�	�����������;������ +�����	���	� �	 ��	�� #!,#

*������ ��� &�	��	F���7
������ ����� 
�� ���������	��	 G���
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���
��, 1.156 g >)8O?

1H ��� >%�%
3?, #(3) � #(:! >�= %^D%#2= #D?= #(5" � #(''

>�= %^D%#2= #D?= !(8# � !(:8 >�= &�%D2= #D?= !(:@ � !(5! >�=

&�%D2= #D?= !('3 � !(@8 >�= %^D= #D? 3(:! >��= 2-P#"('= 3-

P3(!= %# 29D= #D?= 3(33 >��= 2-P#"('= 3- P8(8= %# 29D= #D?=

5(#: � 5(!! >�= Darom -��= !D?= 5(!5 � 5()" >�= Darom -�� �	�

D���&��= #3D?= 5()@ � 5('8 >�= Darom -��= :D?(

13C ��� >%�%
3?, 3!(3@ >&�%D2?= 38()! >%^D�D2?= ::(3#>%^D?=

)3("@ >%# 29D?= 5#(#@ >%2 -��?= #!:(:@ >Darom?= #!)(35 >Darom?=

#!5("! >Darom?= #!5(5: >Darom?= #!5('# >Darom?= #!5(@) >Darom?=

#!'(#) >Darom?= #!'(#@ >Darom?= #!'(): >Darom?= #8#(@# >%2arom

D���&��?= #8)()) >%2arom -��?= #85(") >%2arom -��?(

IR, 3":'= 3"!:= !@!5= !:!5= !#:@= !"3#= #@5)= #:@:= #8@"= #88)=

#"3#= @)5= '@'= 58:= )@)(

ESI (MS), ���( �( %29D29B9= 8"5(!!N ���(, !83 >-��?= 8"' >�+·D?=

#)5 >�+·D3 � -��?(

spez.Drehung, HαI20DP \3":(5� >� P "(##= %D%
3?

Smp., 80.3 ◦C

�����	�
������, 6/##!

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H:"I
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880 mg >23.40 mmol= 3.2 eq(? E�+
D4 �	 10 mL -D$= 1.93 g

>4.42 mmol= 1.0 eq(? -������9�� �	 10 mL -D$

T��	���	 ��� 0.4 mL D29= 0.4 mL #:O���� B�9D�E��(= 1.2 mL

D29

��� <��;������ >3.19 g= #"'O? ���� ��� ��	�� #!,# *������

��� &�	��	F���7
������ ����� ��� &�	��	 #""O ���
�	���������

���;����� ��������		�= ��� &������ ��		 K����� 	���� ���	 ���
����

�����	(

1H ��� >%�%
3?, #(8! � #(:: >�= %^D%#2= #D?= #()) � #('!

>�= %^D%#2= #D?= !(83 � !(:3 >�= &�%D2= #D?= !(:8 � !(5# >�=

&�%D2= #D?= !('! � !(@) >�= %^D= #D?= 3(3) >��= 2-P #"('= 3- P

8(:= %# 29D= #D?= 3(:3 >��= 2-P #"(@= 3- P 3(#= %# 29D= #D?=

5(#! � 5(#' >�= Darom -��= !D?= 5(!: � 5( )! >�= Darom -�� �	�

D���&��= #3D?= 5()@ � 5(5: >�= Darom -��= :D?(

IR, 38):= 3")"= 3"!)= !@!'= !:"3= #8@"= #888= #3!@= ##:)= #"#"=

5:)= )@:= )35(

���
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ESI (MS), ���( �( %29D29B9= 8"5(!!N ���(, #)5 >#""? >�+·D3�-��?=

8"' >�+·D?= !83 >-��?(

�����	�
������, 6/#":

> @0�0.�����0
0>
��
�������@�������� 	�
0��0/78

NH

Ph

O

H

Trt

������� !(:

74 µL >0.88 mmol= 1.5 eq(? 9��
7
����
���� �	 2 mL �%�= 48 µL

>1.16 mmol= 2.0 eq(? ��.9 �	 2 mL �%�= 230 mg >0.58 mmol=

1.0 eq(? -������9D= 322 µL >2.32 mmol= 4.0 eq(? -�+ �	 1 mL

�%�

1H ��� >%�%
3?, !()# � !(': >�= &�%D2= !D?= 3(:# � 3()" >�=

%^D= #D?= 5(#! � 5(!8 >�= Darom= ##D?= 5(!5 � 5(8" >�= Darom=

@D?= '(') >�= 3- P !(!= %D9= #D?(

�����	�
������, 6/'3�

���
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Ph

H

������� !(:

6.04 mL >12.09 mmol= 1.7 eq(? 9��
7
����
���� �	 10 mL �%�=

2.02 µL >24.44 mmol= 4.0 eq(? ��.9 �	 10 mL �%�= 2.90 g

>7.11 mmol= 1.0 eq(? -������9D= 6.40 mL >46.22 mmol= 6.5 eq(?

-�+ �	 10 mL �%�

��� %��������������	� ��		�� 	�� �����
� �% ����
��	= �� ���

B�<�*���� �	�����  ��;������	�;���	�� �	 ��� �	��������� ��	

�����	�= ��� ��	�	 ��� .�����	
 �����	� ��	�� $������	������

�	���
��� �7	���������� �����= ������ ��� �	� ���	� �������	 �0��


��������	 ��� +	�
7��� 
�� 6������	� ���	��	( <f ><�9D? P "(:3=

<f ><�%D9? P "()) >#3,# &�F��9+�?( B��� ��

���	����� <����

���	 ����� ��� <��;������ ������ ������ �������
�( ��� <������

����� ����� 	���� ��������(

�����	�
������, 6/@3�

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H:"I
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> @0�0.�����060
��
��$�
0�0��0
0���� 	�
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HN

Ph

Trt

+	��
��	� �	 H5#I

1.03 g >2.54 mmol= 2.0 eq(? �������<����	
 -��;��	7
����7
;���;��	�

4���� �����	 �	��� +���	�����;���� ��� 0 ◦C �	 20 mL ����

���	�� -D$ �����
���( ��E� ���� �� 
�	�� ��	
�������	= ��� ���

���Q� .��;�	���	 
� ��	�� ���	�������	�	= �
���	 E0��	� ����(

B��� 10 min �����	 500 mg >1.27 mmol? -������%D9 �	 5 mL

������	�� -D$ ������	( B��� 5 min ���� ��� ������ �	����	�

�	� ��	 
��Q ��� E0��	� ��� <������;������ �������	( B���

3 h ���� ��� <������	�������	� ��� &�	��	 �����		� �	� ���

D29 ��2��	���( ��� B��������
�� ���� ��J
������ �	� ��� E0��	�

���� ��� D29 ���������� �	� ���� ��.94 �������	��= ��		 ����

��� E0�������
 �� <������	�������;��� �	����	�(

��� <��;������ >599 mg= ##5O= <fP "(@# >#3,# &�F��9+�??

���� ��� &�	��	 ���
�	�����������;����� ��������		�= ��� &���

���� ��		 K����� 	���� ���	 ���
���� �����	( ��� B�<�.;������

��	 $������	 # ������ K����� �
�� ��� ��	� %�%���;;�
��	��	�

��	(

+�������, 59 mg >##O?

��	



� �����	����	
�	 �	
�������	�

1H ��� >%�%
3?, :()8 >��= 3- trans P #8(!= 2- P !("= ��	7
�%D2

����D= #D?= :(@' >��= 3- cis P ##(5= 2- P !("= ��	7
�%D2 ���	��D=

#D?= )()" � )(5: >�= ��	7
�%D= #D?(

�����	�
������, 6/##8�

> @0�0������060
��
�����
0�0��0�0���� 	�
0��0 =

HN
Trt

Ph

+	��
��	� �	 H5#I

5.75 g >14.23 mmol= 2.0 eq(? �������<����	
 -��;��	7
����7
;���;��	�

4���� �����	 �	��� .�������1�����;���� ��� 0 ◦C �	 30 mL

������	�� -D$ �����
���( 5.6 mL >14.0 mmol= 2.0 eq(? /�E�

>2.5 M �	 D���	? �����	 
�	���� ��	
�������	( B��� 10 min

�����	 2.87 g >7.11 mmol? -������%D9 �	 5 mL ������	�� -D$

������	( B��� 5 min ���� ��� ������ �	����	� �	� ��	 
����

��� E0��	� ��� <������;������ �������	( B��� 3 h ���� ���

<������	�������	� ��� &�	��	 �����		� �	� ��� D29 ��2��	���(

��� B��������
�� ���� ��J
������ �	� ��� E0��	� ���� ��� D29

���������� �	� ���� ��.94 �������	��= ��		 ���� ��� E0�������


�� <������	�������;��� �	����	�(

��� <��;������ >3.50 g? ���� ���
�	�����������;����� ��� ���

��




� �����	����	
�	 �	
�������	�

	�� *�����	��	 ��	 &�F��9+� 8,# ��� ��9+� #""O ��������		�(

+�������, 1.40 g >8'O?

��� %��������������	� ��		�� 	�� �����
� �% ����
��	= �� ���

B�<�*���� �	�����  ��;������	�;���	�� �	 ��� �	���������

��	 �����	�= ��� ��	�	 ��� .�����	
 �����	� ��	�� $������	���

����	���
��� �7	���������� �����= ������ ��� �	� ���	� �������

�0�
��������	 ��� +	�
7��� 
�� 6������	� ���	��	(

�����	�
������, 6/@3�

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H:"I

> @0�0.�����0���
0�0��0�0���� 6720��0 =

NH2

Ph

+	��
��	� �	 H:"I

1.40 g >3.46 mmol= 1.0 eq(? -�������/ ���� �	 20 mL +����	

�	� 2 eq( 6 N D%
 15 h 
�� .����	 �����
�( ��� ����� +��	

BD2�����/ >1.51 g? ���� ��	� +�����	���	� ������ �������
�(

��� %��������������	� ��		�� 	�� �����
� �% ����
��	 >���
�����

<����	
?= �� ��� B�<�*���� �	�����  ��;������	�;���	�� �	

��� �	��������� ��	 �����	�= ��� ��	�	 ��� .�����	
 �����	�

��	�� $������	������	���
��� �7	���������� �����= ������ ��� �	�

���



� �����	����	
�	 �	
�������	�

���	� ������� �0�
��������	 ��� +	�
7��� 
�� 6������	� ���	��	(

�����	�
������, 6/)#�

=�!0+07���.��0"#" 0��
��'�0��
������� �%

HN

Ph

O

N
O

Boc

+	��
��	� �	 H!!='5I

G� ��� <������	�������	� ��� 333 mg >1.11 mmol? /���

E�D���&���9D �	� 120 mg >1.23 mmol= 1.10 eq(?  +,�

������7
�7����7
���	 �	 8 mL ��$ �����	 ��� 0 ◦C 442 µL

>2.80 mmol= 2.5 eq(? B�� �	� 1.46 mL >2.80 mmol= 2.5 eq(?

:"O���� &&+ �	 ��$ ������	( B��� ��	�� .��	�� 
���� ��	 ���

<������	�������	� ��� <������;������ �������	 �	� �����

���� B����( ��� <������	�������	� ���� ��� 3� 5 mL D29

����������( B��� -����	�	� ���� ��.94 ���� ��� E0�������


�� <������	�������;��� �	����	� �	� ��� <��	;������ 	���

.��
�	�����������J� ��� �
��	� %7F��9+� #,# ����
��	(

+�������, 301 mg >@!O?

1H ��� >%�%
3?, #(:" >�= /��= @D?= #('! � #(@: >�= &�%D2%#2=

!D?= !(): � !(': >�= &�%D2= !D?= 3(!" >�= B%D3= 3D?= 3()) >�=

9%D3= 3D?= 8(5! >��= %^D= #D?= :(!@ >��= BD= #D?= 5(#: � 5(3:

���



� �����	����	
�	 �	
�������	�

>�= Darom= :D?(

13C ��� >%�%
3?, 3#()" >&�%D2?= !'(!5 >3� %D3 /��?= 3!("#

>B%D3?= 38(8@ >&�%D2�#2?= :"("# >%^D?= )#(3' >9%D3?= 5@(8)

>%2 /��?= #!:('5 >%Darom?= #!'(!: >%Darom? #!:(88 >%Darom?=

#8#("' >%2arom?= #::(:3 >%2 /��?= #5!(@' >%2 +���?(

IR, 3!@!= !@!!= !':!= #5"!= #):)= #:35= #8:5= #3)!= #!@#= #!:3=

##5:= ###@= #"):= #"#3= @'"(

Smp., 147.5 ◦C

�����	�
������, 6/#!

����0=�
�� >�0�'�0�0������$�
��0
0��@!��$���
 �&

HN

Ph

O

H

Boc

+	��
��	� �	 H!!I

301 mg >0.93 mmol? �% �����	 �	 8 mL ������	�� -D$ �	�

��� +���	 �����
��� �	� ���������� ;�����	������ ��� 213 mg

>5.60 mmol= 6.9 eq(? E�+
D4 ������
�( B��� 4.75 h ���� ��� <��

�����	 ���	���= �	��� ��� <������	�������	� ��� ��� 1.0 M D%


������
�� ��9D �������	 ����( ��� ������	� ���� ��� ���( B�%
�

E0��	� �	� ��	�� #,# *������ ��� ��29 �	� �%� ����������(

��	 ���Q�� $������1 ���� ��J
������( ��� <��;������= ��� ���� ��

���



� �����	����	
�	 �	
�������	�

$�
���� ��J	���= ���� ���
�	�����������;����� ��� ��	�� !,# *��

����� ��� %7F��9+� ��������	���(

+�������, 94 mg >3'O?

1H ��� >%�%
3?, #(:" >�= /��= @D?= #(': � !("" >�= %^D%#2=

#D?= !(!" � !(3: >�= %^D%#2= #D?= !(5" � !('" >�= &�%D2= !D?=

8(!" � 8(3: >��= %^D= #D?= :(#: � :(3" >��= BD= #D?= 5(#: � 5(8"

>�= Darom= :D?= @(:' >�= %D9= #D?(

13C ��� >%�%
3?, !'(38 >3� %D3 /��?= !'(38 >&�%D2?= 3#(:3

>%^D%#2?= 8:(3) >%2 /��?= '"(!) >%2 /��?= #!)(38 >%Darom?=

#!'(8! >%Darom?= #!'()" >%Darom?= #8"=5# >%2 &�?= #::()) >%2?=

#@@()' >%D9?(

ESI (MS), ���( �( %15D21B93= !)3(#:N ���(, #)3 >�+·D�/��?= !)!

>�+·�D?(

Smp., 144.3 ◦C

spez.Drehung, HαI20DP \"(#� >� P "("#!= %D%
3?

�����	�
������, 6/#)

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H@!I

���



� �����	����	
�	 �	
�������	�

��
��'�,�������"�� ��

S

O O

O
H3C

+	��
��	� �	 H@3I

G� 2.00 g >12.27 mmol= 1.0 eq(? %�
�����7
��
��	7
��
���� ��
0��

�	 8 mL �%� �����	 498 µL >12.27 mmol= 1.0 eq(? �����	�


������	 �	� ��� 0 ◦C �������
�( �����	� ��	�� .��	�� �����	

3.41 mL >24.54 mmol= 2.0 eq(? -�����7
���	 
������;��( ��� <��

�����	�������� ���� 30 min ��� <������;������ ������� �	� �	�

���
��Q�	� #� ��� 0.01 M D%
 �	� !� ��� D29 ��������	( B���

-����	�	 ��� B�2.94 ���� ��� E0�������
 �� <������	�������;�

��� �	����	�(

6�	7
��
��	 �� ���� ���	 ����
��	(

+�������, 724 mg >8'O?

1H ��� >%�%
3?, 3('3 >�= 9%D3= 3D?= )(#5 >�= 3- P @(8= 

��D

%D2= #D?= )(35 � )(:@ >�= %D �	� ������D %D2= !D?(

13C ��� >%�%
3?, #3#(88 >%D2?= #3#("3 >%D?= :)(88 >9%D3?(

�����	�
������, 6/)!F@#

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H@3I

���



� �����	����	
�	 �	
�������	�

 ���
��������,�������"�� �%

S
O O

N

+	��
��	� �	 H@8I

G� 1.56 mL >3.07 mmol= 1.0 eq(? ������7
���	 >2.00 M E0��	�

�	 -D$? �	 2 mL %D2%
2 �����	 0.86 mL >6.14 mmol= 2.0 eq(?

-�����7
���	 ������	 �	� ��� 0 ◦C �������
�( �����	� ��	��

��
��	 .��	�� �����	 0.50 g >3.07 mmol= 1.0 eq(? %�
�����7
��
�

��	7
��
���� 
������;��( ��� <������	�������� ���� 2 h ��� 0 ◦C

�������( B��� 6����		�	� ��� �%� ���� !� ��� �����( B�%
�

E0��	� ����������( B��� -����	�	 ��� B�2.94 ���� ��� E0������

��
 �� <������	�������;��� �	����	�(



���
��, 314 mg >5)O?

1H ��� >%�%
3?, !(5' >�= !� B%D3= )D?= )("8 >�= 3- P @('= ������

D %D2= #D?= )(!3 >�= 3- P #)()= 

��D %D2= #D?= )(!3 >��= 3- P

#)() �	� @('= %D= #?(

IR, !@85= #)3'= #8)"= #33!= ##88= @:5= 5)#(

ESI (MS), ���( �( %4D9B92.= #3:("8N ���(, #3) >�+·D?(

�����	�
������, 6/)8F@!�

���



� �����	����	
�	 �	
�������	�

��0 0.��0+07���.��0 = ��

O

N

O

N
H

Ph

O

H
N

Ph

������� !()(#

50 mg >0.19 mmol= 1.0 eq(? ����/= 62 mg >0.22 mmol= 1.1 eq(?

����*�%99D= 42.18 + 30.77 mg >0.22 mmol= 1.1 eq(? ���

%4= 29.8 + 21.0 mg >0.22 mmol= 1.1 eq(? D9/-= 130 + 27 µL

>0.61 mmol= 3.2 eq(? �4&�+= 5 mL ��$

��� <������	�������� ���� ��� D29= B�%
�E0��	� �	� B�D%93�

E0��	� ����������( ��� <��;������ ���� 	���� ���	 ���
����( ��

���� ������	� ��� ����	��	 +������� ��		��� ������ �������
�=

�� ����������������� .��	�
� �� B�<�.;������ ���
����	��

�����	(

+�������, 30 mg >3)O?

1H ��� >%�%
3?, #(38 >�= 3- P )()= 3D?= #(8@ � #(:5 >�= :D?=

3(3# � 3(3) >�= !� B%D2= !D?= 3()! � 3()' >�= !� 9%D2= )D?= 8(58

� 8('" >�= %^D= #D?= 8(@5 � :("5 >�= %Dvinyl= !D?= :(3: � :(8! >�=

%Dvinyl= #D?= 5(!5 � 5(!@ >�= Darom= #3D?(

ESI (MS), ���( �( %25D31B393= 8!#(!8N ���(, 8!3 >�+·D2?= 88:

>�+·DB�?(

���



� �����	����	
�	 �	
�������	�

�����	�
������, 6/@5

�.0 0.��0+07���.��0 = %*

N

N

O

N
H

Ph

O

H
N

Ph

������� !()(#

50 mg >0.19 mmol= 1.0 eq(? ����/= 64 mg >0.22 mmol= 1.1 eq(?

�&��*�%99D= 42.18 + 30.77 mg >0.22 mmol= 1.1 eq(? ���

%4= 29.8 + 21.0 mg >0.22 mmol= 1.1 eq(? D9/-= 130 + 27 µL

>0.61 mmol= 3.2 eq(? �4&�+= 5 mL ��$= ���������	 ��� �%�

��� <��;������ ���� ��� ��	�� &�F��9+��*������ 5,3 �����
�


��������� $
������
�	�����������;��� ��������		�( ��� <���

;������ ���� 	���� ���	 ���
����( �� ���� ������	� ��� ����	��	

+������� ��		��� ������ �������
�= �� ��	
���� .��	�
� ��� ���

�� �� B�<�.;������ ���
����	�� �����	(

+�������, 20 mg >!8O?

1H ��� >%�%
3?, 8(53 � 8('3 >�= %^D= #D?= 8(@) � :(#" >�=

%Dvinyl= !D?= :(#' � :(3' >�= %Dvinyl= #D?(

ESI (MS), ���( �( %36D24B492= 838(!5N ���(, 838 >�+·?= 8:)

>�+·B�?= 853 >�+· ?(

���



� �����	����	
�	 �	
�������	�

�����	�
������, 6/@)

��0+0+��0+07���.��0 = %�

O

N

O

N
H

O

H
N

Ph

������� !()(#

50 mg >0.19 mmol= 1.0 eq(? ����/= 54 mg >0.22 mmol= 1.1 eq(?

������%99D= 42.18 + 30.77 mg >0.22 mmol= 1.1 eq(? ���

%4= 29.8 + 21.0 mg >0.22 mmol= 1.1 eq(? D9/-= 130 + 27 µL

>0.61 mmol= 3.2 eq(? �4&�+= 5 mL ��$= ���������	 ��� �%�

��� <��;������ ���� ��� ��	�� &�F��9+��*������ 5,3 �����
�

$
������
�	�����������;��� ��������		�( ��� %��������������	�

��		 	�� �����
� �% ����
��	= �� ��� B�<�*���� �	�����  ��

�;������	�;���	�� �	 ��� �	��������� ��	 �����	�= ��� ��	�	

��� .�����	
 �����	� ��	�� $������	������	���
��� �7	����������

�����= ������ ��� �	� ���	� ������� �0�
��������	 ��� +	�
7���


�� 6������	� ���	��	( ��� ������ �����
�	 ��	�	

<f P "= ��� &������ �����
� ��	�	 <f P "(#@ >5,3 &�F��9+�?(

+�������, 20 mg >!5O?

��	



� �����	����	
�	 �	
�������	�

�����	�
������, 6/@:

��0 0.��0+07���.��0(�0�� %


O

N

O

N
H

Ph

O

H
N

Ph

S
O O

+	��
��	� �	 H:"I

30 mg >0.07 mmol= 1.0 eq(? �� �	� 61 µL >0.7 mmol= 10.0 eq(?

��6. �* �����	 �	 5 mL �%� ����
��� ����� �����
��� �	�

��� ��� D�
��� ��	 8.76 mg >0.014 mmol= 20 mol%? D���7���

*������!nd  ���
7����� ������
�( ��� ������	� ���� �����	�

66 min ��� 100 ◦C �	 ��� �������

� �����
�( B��� G����� ���

����
����	  ���
7�������	�� ���� ��	� ������� .��	�� ��� 100 ◦C

�����
�( ��� <������	�������	� ���� 15 h ��� �(�( �������= ��		

��	��� ��� ��	� .��	�� ��� 100 ◦C �����
�(

��� +�����	���	� ����
�� �����
� D&E%= ��� &������ ��		 ��	�

	��� 	���� ���	 ���
���� �����	(

����, ;��;������= +����	����
��������*�����	� H0− 10 min,

!"O= 10− 20 min, !" � 5"O= 20− 25 min, 5" � @:O= 25− 55 min,

@:OI

1H ��� >%�%
3?, !(@: >�= 6.�%D3= 3D?= 3(33 � 3(3@ >�= !� B%D2=

��




� �����	����	
�	 �	
�������	�

8D?= 3()! � 3(5" >!� 9%D2= 8D?= :(3" >��= %^D= #D?= :(3' � :(8'

>�= BD= #�!D?= )(#8 >�= 3- P @('= ���	��Dvinyl %D2= #D?= )(85

>�= 3- P #)()= ����Dvinyl %D2= #D?= )(5! >��= 3- P #)() �	� @('=

Dvinyl %D= #D?= 5(") � 5(#3 >�= Darom= :D?= 5(8! � 5(:5 >�= Darom=

:D?(

ESI (MS), ���( �( %26D33B395.= 8@@(!#N ���(, 8@@ >�+·?= :!3

>�+·B�?= :35 >�+· ?(

�����	�
������, 6/##"

�.0 0.��0+07���.��0(�0�� %�

N

N

O

N
H

Ph

O

H
N

Ph

S
O O

+	��
��	� �	 H:"I

20 mg >46 µmol= 1.0 eq(? %* �	� 40 µL >0.70 mmol= 10.0 eq(?

��6. �* �����	 �	 8 mL �%� ����
��� ����� �����
��� �	� ���

��� D�
��� ��	 5.76 mg >9.20 µmol= 20 mol%? D���7���*������

!nd  ���
7����� ������
�( ��� ������	� ���� �����	� 66 min

��� 100 ◦C �	 ��� �������

� �����
�( B��� G����� ��� ����
����	

 ���
7�������	�� ���� ��	� ������� .��	�� ��� 100 ◦C �����
�(

��� <������	�������	� ���� 15 h ��� �(�( �������= ��		 ��	���

���



� �����	����	
�	 �	
�������	�

��� ��	� .��	�� ��� 100 ◦C �����
�(

��� +�����	���	� ����
�� �����
� D&E%= ��� &������ ��		 ��	�

	��� 	���� ���	 ���
���� �����	( 4� B�<�.;������ ���������	

��� .��	�
� ��� ������ ��6. �*(

����, ;��;������= +����	����
��������*�����	� H0− 10 min,

!"O= 10− 20 min, !" � 5"O= 20− 25 min, 5" � @:O= 25− 55 min,

@:OI

ESI (MS), ���( �( %27D36B494.= :#!(!:N ���(, :#3 >�+·D?= :3:

>�+·B�?= ::# >�+· ?(

�����	�
������, 6/##:

���



� �����	����	
�	 �	
�������	�

=���
���� "#� ��������0$�����
� 1���$�
����

/�!���!��� ���A
 
�

O

CO2EtEtO2C

O
S

O


���
��

+	��
��	� �	 H:'I

8.87 g >43.00 mmol? >!(= 3(?������7
������� �����	 �	 20 mL

%D2%
2 ��
0�� �	� ��� 0 ◦C �������
�( ��� ����
���	= �������	

E0��	� �����	 3.90 mL >53.00 mmol= #(! �2(? -���	7
��
���� �	�

��� <����	 �		����
� ��	 5 min 
������;��( ��$ ���� ����
7�����

��	
� ������	( ��� <������	�������� ���� 2 h ��� �(�( �	� ��		

1.5 h ��� 50 ◦C �������= ����� ��	 ���	�� +���	����� ����� ���

������	� ��
����� ����( ��� ������������� .9%
2 ���� �� 6����

�� >50 ◦C= 8 mbar? �	����	�( ��� ����
���= A������ &������ 
�

���� ��	� ������� +���������	� ������ �������
�(



���
��, 10.29 g >@:O?

�����	�
������, 6/###

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H:'I

���



� �����	����	
�	 �	
�������	�

�������)���� 



OH
EtO2C

CO2Et

N3

+	��
��	� �	 H:'I

��� �7�
����� .�
J� 
� ���� �	 20 mL ��$ ��
0��( B��� ;�����	��

������ G����� ��	 6.50 g >100.00 mmol= 2.3 eq(? B�������
�� �	�

���  ��
�	 ���� ��� <������	�������� 30 h ��� <������;������

�������= ����� ��	� 6�������	� 	��� �������	�� 
� ���������	 ���(

��� ������	� �����	 50 mL %D2%
2 ����� 30 mL D29 ���������

�	� �� ���� ������� ! � �������( ��� ��������= �������� &���� ����

3� ��� 20 mL %D2%
2 ����������( ��� �����	����	 %D2%
2�&����	

�����	 '� ��� 40 mL D29 ��������	( ��� ����	����� &���� ����

�	���
��Q�	� ��� ��.94 �������	�� �	� ��J
����( B��� �	����	�	

��� E0�������
� �� 6����� ���� ��� +
����
����
 

 ����
��	(

������ ���� ��	� <��	���	� ������ �������
�(



���
��, 9.35 g >@@O?

�����	�
������, 6/###

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H:'I

���



� �����	����	
�	 �	
�������	�

��������0
;�0��!��$�'���
 
�

N

EtO2C CO2Et

H

+	��
��	� �	 H:'I

��� �
� ���	�����
��� _
 �	��

�	�� 

 ���� �	 120 mL ��$

��
0�� �	� ��� 0 ◦C �������
�( 4		����
� 1 h �����	 22.50 g

>81.0 mmol= 2.0 eq(? -��;��	7
;���;��	 ;�����	������ 
�������	=

����� ��	 $��������
�� 	��� ���� ��
� 
� ���������	 ���( ���

E0��	� ���� ���� 1.5 h ��� �(�(= ��		 4.5 h ��� 80 ◦C �������( ��

����� ��	� 6�������	� 	��� ��������	 ���( ��$ ���� �� 6�����

�	����	� >80 ◦C= 0 mbar? �	� ��� <��;������ >6.30 g= 5'O? ����

����� 
�������� .��
�	�����������;��� �����	���(

��, +
� ����
� &���� ���� ��	 %7�
�����	F���7
�������*������

��� ��	�� *�����	��	 ��	 :,# ��� !,# ��	��
�( $�� ��� &������


� ������ ���� ��� <f P "(3: �	 ��	�� !,#�*������ ��	 %7�
����

��	F���7
������(



���
��, 8(83 � >::O?= �������= ��

��
�� $
���������

1H ��� >%�%
3?, #(3# >�= !� %D3= )D= 3- P 5(#?= #(5@ >�= BD=

#D?= !(') >�= %D= !D?= 8(!8 >2= 9%D2= 8D= 3- P 5(#?(

��� ������	 �	�
7������	 ����	 �	��;�����	 ��� E��������( H:'I

�����	�
������, 6/###

���



� �����	����	
�	 �	
�������	�

> ; @0�
���0�0�����'���
���0��������0
0!��$�'���
 
�

H
N

CO2Et
HO

+	��
��	� �	 H:@I

2.10 g >11.2 mmol? +
�����	�!=3���������7
�� 
� �����	 �	 25 mL

��9D ��
0�� �	� ��� 0 ◦C �������
�( 381 mg >10.08 mmol=

0.90 eq(? B�/D4 �����	 ;�����	������ ��	
� ������	 �	� ��

���� ������� 2 h ��� 0 ◦C �	� ��		 24 h ��� �(�( �������( ���

;D����� ��� ���	�������	�	 .��;�	���	 ���� ��� ��( 150 mL

���( BD4%
�E��( ��� ;D ' ��	�����

� �	� ��� E0��	� 	���� ��	�

��

��
�� $���� �	( 4	 +	����	���� ��	�� &���;���;�1��� >;D

5(:= �������	� ���  2D&94 �	�  D2&94? ���� 
���� ��� �%�

����������( �%� ���� �� 6����� �	����	� �	� ��� <��;������

���� ����� .��
�	�����������;��� �����	���(

��, +
� ����
� &���� ���� ��	 ���7
������F&�	��	�*������ ���

��	�� *�����	��	 ��	 #,# ��� #",# ��	��
�( $�� ��� &������ 
�

������ ���� ��� <f P "(#' �	 ��	�� #,#�*������ ��	 ���7
����

���F&�	��	(



���
��, 1.13 g >)@O?= �������= ��

��
�� $
���������

1H ��� >%�%
3?, #(3" >�= 3- P 5(#= %D3= 3D?= !(8' � !(:) >�= !�

���



� �����	����	
�	 �	
�������	�

+
��%D= !D?= 3(:3 >��= 2- P #!("= 3- P 8(:= D9%# 2%D3= #D?=

3('" >��= 2- P #!("= 3- P 3(!= D9%D2%D3= #D?= 8(#3 � 8(!@ >�=

9%D2= !D?(

13C ��� >%�%
3?, #8(!@ >%D3?= 3!()! >%#%D2?= 3@(8!

>%#%P9?= )#(8@ >D9%D2?= )#(@# >%D3%# 2?= #5!(!8 >%P9?(

��, 3!5@= !@!:= #5'3= #5!3= #):)= #353= #!"5= #"@3= #"!!= ':'= 5"5=

)"@(

��� ����, ���( �( %6D11B93= #8:("5N ���(, #8) >�+·D?(

�����	�
������, 6/#!8= 6/#!:

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H:@I

�
��� �0>/$�0> @0������0> @0���!��0�����'���
���@0

��������0
0!��$�'���
 %&

O

N

O
O

N
H

O

O

H
N

CO2Et

255 mg >1.74 mmol? ���7
�3��7����7����7
��
�����	�!�

������7
�� 
� �����	 �	 25 mL �%� ����
�� ����� ��
0��

�	� ��� 0 ◦C �������
�( �� �����	 630 mg >1.71 mmol= 1.0 eq(?

G�&���E�����;�;���= 378 mg >1.83 mmol= 1.05 eq(? �%% �	�

���



� �����	����	
�	 �	
�������	�

����
7������ ��	��	 ��+& ��	
�������( ��� <������	�������	�

���� 1 h ��� 0 ◦C �	� 4 d ��� �(�( �������( B��� �	�� ��� <������

�	 ���� ��� E0�������
 �� <������	�������;��� �	����	� �	� ���

<������	� �	 25 mL ��9+� �	� : -��;��	 D29 �����	����	

�	� ��	� ������� .��	�� ��� �(�( �������( ��� �������

�	� ���7�

�
����7
���	���1 ���� ��J
������( B��� ���������	 ��� !O����

B�D%93�E��(= D29 �	� ���( B�%
�E��( ���� ��� ����	����� &����

���� B�.94 �������	��( ��9+� ���� �� 6����� �	����	� �	� ���

<��;������ >809 mg= @8O? ���� ����� .��
�	�����������;���

�����	���(

��, +
� ����
� &���� ���� ��	 &�	��	F���7
�������*������ ���

��	�� *�����	��	 ��	 !,# ��� ",# ��	��
�( $�� ��� &������

%& ������ ���� ���<f P "(#! �	 ��	�� #,#�*������ ��	 &�	�

��	F���7
������(

��� ������� +�����	���	� ����
��� �����
� D&E%= ��� &������

����� 
� @3O ���	 ����
��	(

����, ;��;������= +����	����
��������*�����	� H0− 10 min, 3" �

5"O= 10− 30 min, 5" � @:O= 30− 55 min, @:O= O +%BI



���
��, 271 mg >3!O?= �������= ��

��
�� $
���������

1H ��� >%�%
3?, "('" � "(@! >�= !� %D3 E��= )D?= #(!) >�= 3-

P 5(#= ���7
�%D3= 3D?= #(88 � #()' >�= %D2 �	� %D E��= 3D?=

#('# � #(@: >�= β�%D2 &�� �	� γ�%D2 &��= !D?= !(## >��= γ�%D2

���



� �����	����	
�	 �	
�������	�

&��= #D? !(!# � !(3! >β�%D2 &��= #D?= !(3: � !(:' >�= !� %D +
�=

!D?= 3(3: � 3()" >�= δ�%D2 &��= !D?= 3(': � 8(": >�= 9%D2 +
�=

#D?= 8(#3 � 8(!! >�= ���%D2 �	� 9%D2 +
�= 3D?= 8(!@ >��= %^D

&��= #D?= 8(83 � 8()# >�= %^D E��= #D?= :("# � :(#' >�= %D2 9�
=

!D?= 5(#' � 5(3@ >�= %Darom= :D?(

13C ��� >%�%
3?, #8(## >���7
�%D3?= !#('' >%D3 E��?= !!(5"

>%D3 E��?= !8('" >%D E��?= !'("@ >β�%D2 &��?= 3"(@@ >γ�%D2

&��?= 33(3' >%D +
�?= 3)(#' >%D +
�?= 8#(#! >%D2 E��?= 8)(@:

>δ�%D2 &��?= :"()# >%^D E��?= )"(:) >%^D &��?= )#(': >���%D2?=

):(55 >9%D2 +
�?= )5(!5 >%D2 9�
?= #!5(5' >%Darom?= #!'("3

>%Darom?= #!'(85 >%Darom?= #3)(88 >%2arom?= #:)("@ >%2 %�����

���?= #5#(:" >%2 ���7
�����?= #5!(83 >%2 E��?(

IR, 3!@"= !@:)= #)')= #:3:= #8#8= #3:3= ##:"= ###5= @':= )@)(

ESI (MS), ���( �( %25D35B397= 8'@(!:N ���(, 8@" >�+·D?(

spez.Drehung, HαI20DP �"(""3� >� P "("")= %D%
3?

�����	�
������, 6/#!5

��	



� �����	����	
�	 �	
�������	�

�
��� �0>/$�0> @0������������0> @0������0�����'���
���@0

��������0
0!��$�'���
 %�

O

N
H

O

O

O
H
N

O
N
H

CO2Et

245 mg >1.68 mmol? ���7
�3��7����7����7
��
�����	�!�

������7
�� 
� �����	 �	 12 mL �%� ����
�� ����� ��
0��

�	� ��� 0 ◦C �������
�( �� �����	 622 mg >1.68 mmol= 1.0 eq(?

G�&���+
����;�;���= 364 mg >1.76 mmol= 1.05 eq(? �%% �	�

����
7������ ��	��	 ��+& ��	
�������( ��� <������	�������	�

���� 1 h ��� 0 ◦C �	� 4 d ��� �(�( �������( B��� �	�� ���

<������	 ���� ��� E� �� <������	�������;��� �	����	� �	� ���

<������	� �	 25 mL ��9+� �	� : -��;��	 D29 �����	����	

�	� ��	� ������� .��	�� ��� �(�( �������( ��� �������

�	� ���7�

�
����7
���	���1 ���� ��J
������( B��� ���������	 ��� !O����

B�D%93�E��(= D29 �	� ���( B�%
�E��( ���� ��� ����	����� &����

���� B�.94 �������	��( ��9+� ���� �� 6����� �	����	� �	� ���

<��;������ >697 mg= '3O? ���� ����� .��
�	�����������;���

�����	���(

��, +
� ����
� &���� ���� ��	 &�	��	F���7
�������*������ ���

��	�� *�����	��	 ��	 !,# ��� ",# ��	��
�( $�� ��� &������ %�

��




� �����	����	
�	 �	
�������	�

������ ���� ��� <f P "()3 �	 ���7
������(

��� ������� +�����	���	� ����
��� �����
� D&E%= ��� &�����

����� 
� @5O ���	 ����
��	(

����, ;��;������= +����	����
��������*�����	� H0− 10 min, 3" �

5"O= 10− 30 min, 5" � @:O= 30− 55 min, @:O= O +%BI

+�������, 206 mg >!:O?

1H ��� >%�%
3?, #(#@ � #(3# >�= ���7
�%D3= %D3 +
�= )D?= !(33

� !(8# >�= %D +
�= #D?= !(8! � !(:! >�= %D +
�= #D?= !(@3 � 3("5

>�= &�%D2= !D?= 3('8 � 3(@5 >�= 9%D2 +
�= #D? 8("8 � 8(!3 >�=

���7
�%D2 �	� 9%D2 +
�= 3D?= 8(!' � 8(8# >�= %^D= #D?= 8(8#

� 8(:" >�= %^D= #D?= :("" >�= 9%D2 9�
= !D?= 5("5 � 5(3# >�=

&�%D= #"D?(

IR, 3!@!= !@3#= !'8'= !##8= #)8)= #:33= #8:!= #!"@= #"83= 58)= )@)(

ESI (MS), ���( �( %26D31B397= 8@5(!!N ���(, 8@' >@5? >�+·D?(

spez.Drehung, HαI20DP \#!#(#� >� P "("")= %D%
3?

�����	�
������, 6/#!3

���



� �����	����	
�	 �	
�������	�

�
��� �0>=�!0> @0���!��0> @0������0�����'���
���@0��������

0
0!��$�'���
 %�

O

O

H
N

CO2Et

N O

H
N O

O

164 mg >1.12 mmol? ���7
�3��7����7����7
��
�����	�!�

������7
�� 
� �����	 �	 12 mL �%� ;�;���� ����� ��
0��

�	� ��� 0 ◦C �������
�( �� �����	 366 mg >1.12 mmol= 1.0 eq(?

/���E���&�����;�;���= 242 mg >1.12 mmol= 1.05 eq(? �%% �	�

����
7������ ��	��	 ��+& ��	
�������( ��� <������	�������	�

���� 1 h ��� 0 ◦C �	� 4 d ��� �(�( �������( B��� �	�� ���

<������	 ���� ��� E� �� <������	�������;��� �	����	� �	� ���

<������	� �	 25 mL ��9+� �	� : -��;��	 D29 �����	����	

�	� ��	� ������� .��	�� ��� �(�( �������( ��� �������

�	� ���7�

�
����7
���	���1 ���� ��J
������( B��� ���������	 ��� !O����

B�D%93�E��(= D29 �	� ���( B�%
�E��( ���� ��� ����	����� &����

���� B�.94 �������	��( ��9+� ���� �� 6����� �	����	� �	� ���

<��;������ >628 mg= #!3O? ���� ����� .��
�	�����������;���

�����	���(

��, +
� ����
� &���� ���� ��	 &�	��	F���7
�������*������ ���

���



� �����	����	
�	 �	
�������	�

��	�� *�����	��	 ��	 !,# ��� ",# ��	��
�( $�� ��� &������ %�

������ ���� ���

<f P "()5 �	 ���7
������(

��� ������� +�����	���	� ����
��� �����
� D&E%= ��� &�����

����� 
� )3O ���	 ����
��	(

����, ;��;������= +����	����
��������*�����	� H0− 10 min, 3" �

5"O= 10− 30 min, 5" � @:O= 30− 55 min, @:O= O +%BI

+�������, 252 mg >8@O?

1H ��� >%�%
3?, "(') � "(@@ >�= !� %D3 E��= )D?= #(!' >�= 3- P

5(#= ���7
�%D3= 3D?= #(8" >�= /��= @D?= #(83 � #(:! >�= %D2 E��=

!D?= #()@ � #('" >�= %D E��= #D?= #(@" � !(#! >�= β�%D2 &��=

#D?= !(#) � !(!@ >�= β�%D2 &��= #D?= !(3) � !(88 >�= %D�+
�= #D?=

!(:! � !()! >�= >%P9?�%D�+
�= #D?= 3(:8 � 3()8 >�= δ�%D2 &��=

#D?= 3(5" � 3('# >�= δ�%D2 &��= #D?= 3('' � 3(@' >�= 9%D2�+
�=

#D?= 8(#! � 8(!5 >�= ���7
�%D2= 9%D2�+
�= 3D?= 8(8# � 8(:# >�=

%^D E��= #D?= 8(:# � 8(:5 >�= %^D &��= #D?= :(": � :(#3 >�= BD=

#D?(

13C ��� >%�%
3?, #8(!' >���7
�%D3?= !#(@! >%D3 E��?= !3(:3

>%D3 E��?= !8(5# >%D E��?= !:("5 >γ�%D2 &��?= !'(8@ >%D3 /��?=

!@(#5 >β�%D2 &��?= 33(:3 >%D�+
�?= 3)(8# >>%P9?�%D�+
�?=

8!("@ >%D2 E��?= 8)('5 >δ�%D2 &��?= :"(83 >%^D E��?= :'(':

>%^D &��?= )!("! >���7
�%D2?= ))(") >9%D2�+
�?= 5@()5 >%2

���



� �����	����	
�	 �	
�������	�

/��?= #::(': >%2 %�������?= #5!("! >%2 ���7
�����?(

IR, !@:'= !'5#= #5"5= #)8)= #83"= #3))= ##)8= #"!#= ')'= 5!@(

ESI (MS), ���( �( %22D37B397= 8::(!)N ���(, 8:) >�+·D?(

spez.Drehung, HαI20DP �#5(!� >� P "("#3= %D%
3?

�����	�
������, 6/#!)

%0>7����'���
���@0
0>�0>�����'���
���@��������0
0��@0

�0�'�0�0���$�!�!��B�-�-*C��'��0�0�� ��

N

H

N

O

OH

HO

OH

+	��
��	� �	 H:@I

1 g >6.85 mmol? >�=� ?����7
�3��7����7����7
��
�����	�!�

������7
�� 
� �����	 �	 25 mL ������	�� -�
��
 ��
0�� �	� ���

−78 ◦C �������
�( 913 µL >11.84 mmol= 1.8 eq(? �4/+E �����	

���� 3 h ���������� �	 ��� *
����	� �	�
�	� 
������;�� �	� ��

�����	 ������� 2 h ��� −78 ◦C �������(

��� <������	�������	� ���� ��� ��( 10 mL ��9D ��� −78 ◦C

��2��	��� �	� ������� 30 min �������( �����	� �������� 30 min


���� ��	 ��� <������	�������� �������	 ��� �(�( ��� 0.1− 1 mL

���( B�.94�E��( �����	 ��� +
���	�����

� �������

� �	� 	���

�������	 30 min ��J
������ �	� ��� ��9D 	�����������	(

���



� �����	����	
�	 �	
�������	�

ESI (MS), ���( �( %8D14B294= !"!(#"N ���(, #3: >'8?

>D��������
+·D?= !"3 >�����+·D?(

�����	�
������, 6/::

��� 6����	��	� ��� �	 ��� E�������� ����		�( H:@I

> @0�0>>>
!;�!@0�0>7����'���
���@��������0
0��@��
���@0

60����������������0
0!��$�'����

N

O

N
H

Pr

HN
OH

50 mg >0.26 mmol= 1.0 eq(? >� ?� �;��;7
;7���
���	�!�����������

&* �	� 53.56 mg >0.26 mmol= 1.0 eq(? �� �����	 �	 ��	�� *��

����� ��� 2.5 mL ������	�� ��9D= 2.5 mL ������	�� -D$

�	� 1 mL ������	�� �%� �	��� B2�+����;���� ��
0��( ��		

�����	 
�	����� 18.17 mg >0.29 mmol= 1.0 eq(? B�%B/D3 �	�

��		 76.6 mg >0.58 mmol= 2.2 eq(? G	%
2 ��	
�������	 �	� ��

���� 5 h ��� �(�( �������( ��� ����
������� -����������	 ���� �����

��� �����	�;��������;����� .��	�
 ��� &������� ��
���(

ESI (MS), �F
 >O?, !5) >�+· ?(

�����	�
������, 6/%�	���#)

���



� �����	����	
�	 �	
�������	�

" 0=�!0>�0��
������������@0+0���!������ &


N

N

O

NHBoc

������� !()(3

5.33 g >23.03 mmol? /���E�E��= 7 mL ��9+�= 25.0 mL

>57.59 mmol= 3.5 eq(? :"O���� &&+= 5.12 mL >46.07 mmol=

2.0 eq(? 8�����7
;�;���
�	( �� ���� 1 h ��� 0 ◦C �	� �	���
���

Q�	� 5 d ��� �(�( �������( ��		��� 
���� ��� �%= ���� ��� �����


	���� ��

���	��� ���( �� ���� ��� ��� G��� ��	� 6�������	� ���

�
���	 E0��	� 	��� ����	 ����������( ��� <������	��������

���� 
����

��� ��� ��9+� ����������(

��� &������ ���� ��	� +�����	���	� �������
�(

+�������, 6.70 g >@3O?

1H ��� >%�%
3?, "(@! >�= 3- P )(5= %D3 E��= 3D?= "(@' >�= 3-

P )(:= %D3 E��= 3D?= #(83 >�= /��= @D?= #()8 � #(55 >�= %D2 E��=

!D?= !(#' � !(:@ >�= >!� B%D2 �&= B%D3 �&?= 5D?= 3(3@ � 3('#

>�= >!� B%D2 �&?= 8D?= 8()8 >��= %^D= #D?= :(!: >��= BD= #D?(

�����	�
������, 6/33

���



� �����	����	
�	 �	
�������	�

" 0=�!0>�0��
������������@0 0���!������ &�

N

N

O

NHBoc

������� !()(3

5.00 g >20.04 mmol? ��E���/���D7�����
����= 5 mL ��9+�=

30.0 mL >70.1 mmol= 3.5 eq(? :"O���� &&+= 4.45 mL

>40.09 mmol= 2.0 eq(? 8�����7
;�;���
�	(

.%, +
� ����
� &���� ���� ��	 ),# &�	��	F���7
�������*������

��	��
�( $�� ��� &������ &� ������ ���� ��� <f P "(38(

+�������, 965 mg >:5O?

1H ��� >%�%
3?, "('5 >�= 3- P )('= %D3 E��= 3D?= "(@) >�= 3-

P )(:= %D3 E��= 3D?= #(#@ � #(!' >�= %D2 E��= !D?= #(8# >�= /��=

@D?= #()" � #(5) >�= %D E��= #D?= !(!' >�= B%D3= 8D?= !(3# � !(85

>�= !� B%D2= 8D?= 5D?= 3(83 � 3(5# >�= !� B>%P9?%D2 = 8D?=

8()5 � 8(:' >�= %^D= #D?= :(!@ >�= 3- P '(@= BD= #D?(

13C ��� >%�%
3?, !!("5 >%D3 E��?= !3(8' >%D3 E��?= !8(53 >%D

E��?= !@(5@ >%D2 E��?= 8!("3 >B>%P9?%D2?= 83(#! >%2 /��?=

8:(8# >B>%P9?%D2?= 8)("8 >B%D3?= 8'(8' >%^D?= :8(5" >B%D2?=

::(#8 >B%D2?= 5@(:5 >%2 /��?= #::()' >%2 +���?= #5#(85 >%2

%�������?(

���



� �����	����	
�	 �	
�������	�

ESI (MS), ���( �( %16D31B393= 3#3(!8N ���(, 3#8 >�+·D?(

IR, 3!@)= !@:8= !@3!= !')@= !5@3= #5"3= #)8"= #88:= #3):= #!@#=

#!8'= ##)5= #"""= 55'(

spez.Drehung, HαI20DP \!"(#� >� P #(5@= %D%
3?

�����	�
������, 6/38

" 0=�!0>�0��
������������@0+0���������������� &�

N

N

O

NHBoc

Ph

������� !()(!

5.11 g >19.28 mmol? /���E�&��= 40 mL ��%= 4.77 g

>23.14 mmol= 1.2 eq(? �%%= 3.13 g >23.14 mmol= 1.2 eq(? D9/-=

2.14 mL >19.28 mmol= 1.0 eq(? 8�����7
;�;���
�	= 7.60 mL

>48.20 mmol= 2.5 eq(? B��

��� <��;������ >6.557 g= @'O? ���� ;�����	������ ���
�	�����

�������;����� ��� ��	�� *�����	� ��	 %7F��9+� >!,#? ���

��9+� #""O ��������	���( $�� ��� &������ &� ������ ���� ��� <f

P "(:! �	 #,! %7F��9+�(

+�������, 3.10 g >8)O?

���



� �����	����	
�	 �	
�������	�

1H ��� >%�%
3?, #(8! >�= /��= @D?= !(!@ >�= B%D3= 3D?= !('3 �

3("" >�= &�%D2= !D?= 8(58 � 8(': >�= %^D= #D?= :(3! � :(85 >�=

BD= #D?= 5(#! � 5(38 >�= Darom= :D?(

IR, 33!3= !@!:= !'8'= #5"@= #)!3= #:5"= #:3:= #83)= #3)!= #!8!=

#!!!= ##)@= #"'5= )8"(

ESI(MS), ���( �( %19D29B393= 385(!!N ���(, 38' >:5? >�+·D?(

�����	�
������, 6/35

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H@:I

>" @0=�!0>�0��
������������@0 0���������������� &�

N

N

O

NHBoc

Ph

������� !()(!

4.97 g >18.75 mmol? /�����&��= 40 mL �%�= 4.64 g

>22.50 mmol= 1.2 eq(? �%%= 3.94 g >22.50 mmol= 1.2 eq(? D9/-=

2.08 mL >18.75 mmol= 1.0 eq(? 8�����7
;�;���
�	= 7.60 mL

>48.20 mmol= 2.5 eq(? B��

��� <��;������ ���� ���
�	�����������;����� ��� ��	�� *���

���	��	 ��	 %7F��9+� >!,#? ��� ��9+� #""O ��������	���( $��

��� &������ &� ������ ���� ��� <f P "(:! �	 #,! %7F��9+�(

+�������, 555 mg >'O?

��	



� �����	����	
�	 �	
�������	�

1H ��� >%�%
3?, #(8! >�= 3� %D3 /��?= !('5 � 3("5 >�= &�%D2=

!D?= 8(5@ >��= %^D= #D?= :(35 >�= 3- P '(#= BD= #D?= 5(#) � 5(3:

>�= Darom= :D?(

13C ��� >%�%
3?, !'(85 >3� %D3 /��?= 8"(33 >&�%D2?= 83())

>!� B%D2?= :"(@" >%^D?= :3(:: >!� B>%P9?%D2?= '"(!) >%2

/��?= #!5(38 >%Darom?= #!'(@! >%Darom?= #!@('3 >%Darom?= #3)(:@

>%2arom?= #5"(:! >%2 %�������?(

IR, 33!#= !@:'= !@3"= !'5#= #)@5= #)83= #8:#= #3):= #!88= ##)3=

#"#@= @5:= 58:= 5""(

ESI(MS), ���( �( %19D29B393= 385(!!N ���(, 38' >5)? >�+·D?(

�����	�
������, 6/3'

>�0��
������������@0+0���!������ &%

N

N

O

NH2

������� !(3(8

500 mg >1.60 mmol?  �/���>8�����7
;�;���
�	?�E�
����	����

&
= 10 mL �%�= 1.20 mL >16.00 mmol= 10.0 eq(? -$+( ���

<��;������ >1.02 g= #@3O? ���� ������ �	 E�D���;��	7
�
�	�	

����;;�
�(

��




� �����	����	
�	 �	
�������	�

1H ��� >%�%
3?, "('5 >�= 3- P )(3= %D3 E��= 3D?= "(@8 >�= 3- P

)(8= %D3 E��= 3D?= #(3@ � #(8' >�= %D2 E��= #D?= #(:3 � #()8 >�=

%D �	� %D2 E��= !D?= !(!) >�= B%D3= 3D?= !(3# � !(88 >�= !�

B%D2= 8D?= 3(3) � 3(:' >�= !� B>%P9?%D2= 3D?= #()3 � #(58 >�=

!� B>%P9?%D2= #D?= 8(@3 >��= 3- P @("= 3- P 3(@= %^D= #D?(

�����	�
������, 6/8!

�0��
������������0 0���!������ &�

N

N

O

NH2

������� !(3(8

3.56 g >11.35 mmol?  �/���>8�����7
;�;���
�	?���
����	����

&�= 85 mL �%�= 8.43 mL >113.50 mmol= 10.0 eq(? -$+(

IR, !@)5= !'55= !5!'= #558= #))#= #85"= ##3"= @5:= '35= 5@5= 5!#=

5"3(

ESI (MS), ���( �( %11D23B39= !#3(#'N ���(, !#8 >''? >�+·D?(

spez.Drehung, HαI20DP �!()� >� P "('!= %D%
3?

�����	�
������, 6/##'

���



� �����	����	
�	 �	
�������	�

�0��
������������0+0���������������� &�

N

N

O

NH2

Ph

������� !(3(8

700 mg >2.01 mmol? �/���>8�����7
;�;���
�	?�E�;��	7
�
�	�	����

&�= 15 mL �%�= 1, 5 mL >20.10 mmol= 10.0 eq(? -$+( ��� &���

���� ���� ������ ������ �������
�(

�����	�
������, 6/:@�

��� �	�
7������	 ����	 �	��;�����	 ��� E��������( H@)I

�.0+0+��0+07���.��0=�! &�

N

N

O

NH

O

NHBoc

Ph

50 mg >0.23 mmol? &%= 65 mg >0.23 mmol= 1.0 eq(? E�D���&���

/�� �	� 80 µg >0.47 mmol= 2.0 eq(? �4&�+ �����	 �	 10 mL

��% ��
0�� �	� ��� 0 ◦C �������
�( 122 mg >0.23 mmol= 1.0 eq(?

&7��� �����	 ��	
�������	( ��� <������	�������	� ���� 10 d

�	�



� �����	����	
�	 �	
�������	�

��� �(�( ������� �	� ��� BD4%
�E��= D29= �	� B�%
�E��( ������

�����(

��� �% ��� <���������� >176 mg= #:'O? 
����� ��	�( @ .;���=

B�<�.;������ �	� E%��.�.;������ ��� <��;������� ����

����	 ��� ��� 6����	��	���	 ��� G��
;������� ��	( B���� �

�

.��	�
� ��	� ��	������ 
�
����	�	(

1H ��� >%�%
3?, "(@! � "(@: >�= %D3 E��= 3D?= #("# >�= 3- P

)(8= %D3 E��= 3D?= #(8: >�= /��= @D?= #(8' � #(:# >�= %D= #D?=

#(:) � #()5 >�= %D2= !D?= #(@" � !("! >�= #D?= !("' � !(!: >�=

#D?= !(:3 >�= B%D3= 3D?= !()" � !(55 >�= &�%D2 �	� %D2= 8D?=

!(5' � !(@" >�= %D2= !D?= 3(:5 � 3(5@ >�= B>%P9?%D2 �&= 8D?=

3(@3 � 8("! >�= #D?= 8(!8 � 8(3: >�= %D ���� %^D= #D?= 8(@3 >��=

3- P '(@= 3- P 8(#= %^D= #D?= 5(#3 � 5(38 >�= Darom= !D?= 5(!3 �

5(!@ >�= Darom= 3D?(

13C ��� >%�%
3?, !#(@! >%D3 E��?= !3(38 >%D3 E��?= !8('!

>%D E��?= !'(8@ >3� %D3 /��?= 3#(53 >&�%D2?= 8!(#" >%D2 E��?=

88(!8 >B>%P9?%D2 �&?= 88(@" >B%D3?= 8'("' >%^D?= :#(#" >%2

/��?= :3(5# >%D ���� %^D?= :3(@" >B%D2 �&?= :8("3 >&�%D2

&��?= #!)("3 >%Darom?= #!'(:" >%Darom?= #!'(:8 >%Darom?= #):()3

>%2?= #)@(:# >%2 ?= #58()3 >%2?(

IR, !38'= !@3!= !'):= #5"5= #)85= #8:3= #3):= #!88= ##:8= #"':=

#"#3= '8"= 585= 5""(

�	�



� �����	����	
�	 �	
�������	�

ESI (MS), ���( �( %26D42B494= 858(3!N ���(, 85: >�+·D? >#?= :#:

>�+·%�? >3#?(

spez.Drehung, HαI20DP \:(#� >� P "()5= %D%
3?

�����	�
������, 6/8@

�.0 0+��0+07���.��0=�! �*

N

N

O

NH

O

NHBoc

Ph

������� !()(!

447 mg >1.60 mmol? E�D���&���/��= 341 mg >1.60 mmol=

1.0 eq(? &&= 216 mg >1.60 mmol= 1.0 eq(? D9/-= 346 mg

>1.68 mmol= 1.05 eq(? �%%= 10 mL -D$(

.%, +
� ����
� &���� ���� ��	 %7�
�����	F���7
�������*������

��� ��	�� *�����	� ��	 #," ��� #,: ��	��
�( $�� ��� &������ �*

������ ���� ��� <f P "(!! �	 !,# %7F��9+�(

��� &������ >1.98 g= !:"O? �	���
� ���
� 6���	���	���	��	 ���

��� %7�
�����	( �����	� ��	�� 
�����	 +�����	���	���������


�����
� ���� ��� &������(

1H ��� >%�%
3?, "(@! >�= 3- P )(:= %D3 E��= 3D?= #("" >�= 3- P

�	�



� �����	����	
�	 �	
�������	�

)(:= %D3 E��= 3D?= #(8" >��= /��= @D?= 8(#5 >��= %^D= #D?= 8('@

>��= %^D= #D?= )(@@ � 5(!3 >�= Darom = :D?(

ESI (MS), ���( �( %26D42B494= 858(3!N ���(, 85) >�+·D?= :#8

>�+· ?(

�����	�
������, 6/8:

�.0+0.��0+07���.��0=�! ��

N

N

O

NH

Ph

O

NHBoc

Ph

������� !()(!

561 mg >2.01 mmol? E�D���&���/��= 497 mg >2.01 mmol=

1.00 eq(? &�= 271 mg >2.01 mmol= 1.0 eq(? D9/-= 435 mg

>2.11 mmol= 1.05 eq(? �%%= 880 µL >7.04 mmol= 3.5 eq(? B��=

15 mL -D$( ��� <��;������ >1.09 g= #")O? ���� ��� ��	��

&�F��9+��*������ ���
�	�����������;����� ��� ��	�� *�����

�	��	 ��	 &� #""O ��� ��9+� #""O ��������		�= ��� &������

��		 K����� 	�� �	 .;���	 ���
���� �����	= �� �� ���� �����	� ���

.% 
�����
�(

+�������, 34.5 mg >3(8O?

1H ��� >%�%
3?, #(8) >�= /��= @D?= #(5# � !("" >�= &�%D2 �	�

�	�



� �����	����	
�	 �	
�������	�

&�%D2%D2 D���&��= 8D?= !("! � !(#) >�= &�%D2 &��= !D?=

!(!! >�= B%D3= 3D?= !(:: � !(58 >�= B%D2= 8D?= !('' � 3(## >�=

B>%P9?%D2= 8D?= 3(58 � 3('8 >�= %^D= #D?= 8(#! >��= %^D= #D?=

8(@) >��= BD= #D?= :("@ >��= BD= #D?= 5(#! � 5(!# >�= Darom= #"D?(

ESI (MS), ���( �( %29D40B494= :"'(3"N ���(, :"' >�+·?(

�����	�
������, 6/:@

��� �	�
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